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National Testing Agency (NTA)
UGC-NET RESULT December, 2019

Roll Number : KL1705209529 Application Number : 190520766026

Candidate's Name : HEFSIBA JOSEPH.M.L

Mother's Name : LEELA.R

Father's Name : MADHU.T

Category : GENERAL Person with
Disability(PwD)* : No

Subject : COMMERCE
No of Candidates in this
Subject Registered : 127317 Appeared : 104089

Applied For : JRF & ASSISTANT PROFESSOR

Paper Maximum Marks Marks Obtained Percentage of
Marks Obtained

Percentile
Score@

Paper-1 : 100 58 58.00 92.8916600
Paper-2 : 200 114 57.00 98.7664403
Total : 300 172 57.33 98.3437251
Marks obtained
in words : One Hundred Seventy Two Only

Result : QUALIFIED FOR ASSISTANT PROFESSOR ONLY

‘*’ VI-Visually Impaired, HI- Hearing Impaired, LM-Locomotor Disability, OD-Other Disability

‘@’ Percentile scores are scores based on the relative performance of all those who appear
for the examination in this subject.

Dated : 31.12.2019 Senior Director NTA UGC-NET

Please click here for Subject wise/Category wise cut-off for Assistant Professor only and
Junior Research Fellowship (JRF)& Assistant Professor Both

Note:

1. Subject wise Cut-Off is based on the Percentage of Marks Obtained.
2. Those qualified for Assistant Professor will not be considered for award of JRF.

Candidates who qualify the Test for eligibility for Assistant Professor will be governed
by the rules and regulations for recruitment of Assistant Professor of the concerned
universities/colleges/State governments, as the case may be.

3. The candidates who qualify for the award of Junior Research Fellowship are eligible to
pursue research in the subject of their post-graduation or in a related subject and are
also eligible for Assistant Professorship. The universities, institutions, IITs and other
national organizations may select the JRF awardees for full time research work in
accordance with the rules and regulations prescribed by them.

4. Candidates belonging to Economically Weaker Section (EWS), Scheduled
Caste(SC)/Scheduled Tribe(ST)/Persons with Disability(PwD)/ Transgender /Other
Backward Classes -Non creamy layer (OBC-NCL) (as per the central list of Other
Backward Classes available on National Commission for Backward Classes (NCBC),

https://ugcnet.nta.nic.in/WebInfo/Handler/FileHandler.ashx?i=File&ii=197&iii=Y


Government of India website: www.ncbc.nic.in), will be given such special concessions
as may be decided by the UGC.

5. Candidates qualifying for the award of Junior Research fellowship will be eligible to
receive fellowship of UGC under various schemes, subject to their finding placement in
universities/IITs/institutions. The validity period of the offer is three years w.e.f. the
date of issue of JRF Award Letter. However, in case of the candidates who have already
joined M. Phil. / Ph.D., the date of commencement of fellowship shall be from the date of
declaration of NET result or date of their joining, whichever is later.
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MALAYALAM
Maximttm : 80 Scores

Time : 2% Hours

Cool-off Time : 15 Minutes

onl c ro3cn1 6e gcro eunoa :

. gc0rDo6T*c0 ogv3ro3cmoilcn'o3couccofl cotcr:;onut coolleoccoJl cr-lccofl'rJ omg$elccaosrEc)c6m"'

. cdl6(lov's Zyz aenflaaga cruoco;rorolcn" o-r3oco 15 olcrtl8 roroujlam;ocoo p6rBcc0flolao3o'

. o€)Hc ojlreccnro.mrla3o cn1acgc,o]4"nsagg no6mo colcr:;ron(jbdoSoc(coco 9(oroo

ooeJGCI6rE(oJ99.

Score

I ogrod 5 o.rooor3gg ao..lco;eung[kd o61orom1o3o 4 cnlca;eon(Jaacr'g-ojkoocot poYooo ooeJc)la''

ecrpc62o.Ilcoo. 
- (4x2:8)

1.'' mlro;o0mcr{l ocl dl sruro.Jl dl m o-.l3o3ov om

LoJGDmco cruogoo'roaoccg8olJo coldlcaosrno," - pQJloS UoaSoog r:3nv;aoocfl crolreccrloni.lot

.gi o c,rll ae,3cm1 e c ns .or6il o cf, cru3-ot m *lJ gg LoJ cr# c oJ cn o0 sJ o .610 eJrDJa,

. BeosJCTDCA crDorJoorDco;Jo to6oo ooro colo oJoJoa nJl dl ggcmcorc gc6m"'

o m(i')JolJo t-u6 oo cr.l3o oo: dl erororco.rc gc6m" G3og;croot'

o cr.: 6 oo rorofl o cf, o-.l c nn coll nfl oc 1co o cru ero.: o1 aer3croo c gc 6rn".

. GJo9JCTDOCD [6J(fDm CCOr CrO 0g oomldoc go o6JOO Co-.j dl caoerno.

2. "Gcltgaococr.toJos ooag4acd
oc!3o eiolcc6 adov3cruc66rjl" - g'c er.lrollacaao" cromJceocgJoc(Q) loJcr#colma(ja ooerreOruJl

o€)eJ(DJe,

o acscgoQ mogoflS dlojkooonneoJc'4gg oruo3g

' e393goQ Gros66Bc(rlo cocoso

o acscgoQ teJocrulGco-lo

. 6loQ dlolroo, GIOoJccrDoJJoJmlo nocntlc! roa0orocr-lcocsJgg o-lao
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(o m roJ cn c s6rdro'l o cf, cru oJl c co ou ro e gccoll o:3endl ao c g c o0 ofl col3cm
ooro9J(u)J6.

. cgJsClafl oc(oo orocr:rodlflaoJcmj

o (6)eorm oo@GCUrJl@Jo pcr_iccarccdldoJrmJ,

. oJcocruoJeeraog Qdoeocggcm3.
o cnr oacell a Cl oJl rocru ocru;ari roomr"aordl ao3rm3.

"1oJ6ccoo Eelo GoJcoel@rc6Tn' ..,,,," enncc6 oJo6rTloe,

""td ro3ocmcrd ooSl a3oflogceJ63o" - arocaloroflocfl pr cucacr3ecfr atocooflollrd curryoroflo
oc6o o6lcruf ?

{dlcoe ronrfldlaer3cm cuca,loroflcri GromJccocaJocol (oJclpccumac6 ooloo6ronDs3ooroeJrola,
oJcGJo - col3cuoflo3os a6mag!4fl orgo3os oodoorooro@Jo pc6nnJ ogcflacr3cm croJmJ@ e6rn"

Ggl6r6 ocg! raomrlcnromccofl.

ml3-armacl0:

l) .ottA ot$, crooJos oode@oorlocor3o prc6nn3o3cllaer3cm soJmJo cor3cuoflcol3os aeSpSaglafl aene'
ronmtsnromcoll.

2) cor3cuoflcol3os Groo3os ooJecolooroco{o {aJmJro gdnn3 ogcilaer3cm *md aene'rooera oe$
rommr.snromcoll.

3) ,utooJos oodGarooloolJo pt6cmJ o3cflaer3crn roJmJo cor3cuollcor3os as;gaglafl asre'Grorffi oeg!
ronml.pnromccoll.

4) co3m;ro plc6rm3 ogcllaer3crnof cor3cuoflor3os aep;a$afl asne-Gr96r6 org! orocruynromcoll.

il. 12^cuoool]gg c-o.rceJ6uBgllcfl ogoora,la3o 6 nomr*,1m"groruroo o€)eJoJar.
4 ofloro. (6x4:24)

ipcgceooro om3ov;6 roetc4cdlmcern" o3cfrro3aoo mafla3crnro". oo6r:co.ro,ullmg' - pr romdllo-tccoto
oJl a coll o3orofl 1ot oflaoerno {DS coodoJa,

" oJloo.lle4oggcoJ Bcroaeocoso
aJocolg oJoacorrdl eun ocn cn o oD

eeoo{ cJo6rullDJ mcr6l gfl ao3cm3

e3ocr:fldlcn ogofl a3etmclool" - r&erccrLruiloJos plc otc6lrecr.lcoroilcri rondlcn:occnoocrolcem'?
cuJdfDoc6.oJ6.

Go9trH6d6ooJos 'Gocos6rDo' o6crn aoJko o-orcer'aocio-tcorccoll r0Toilnndlgpao3nnofloi qccrncdl
corccoll ao3 crootsollcLlcruo(/)o (ogsocdoJa.

acaoc o r4i mcsa rdr6il o cfl lo oc m m crjl c craog (u)a 6 o6 ooc 6m" o.0 cm" ooeSroJa.

5rucoo36 ocuogorc'tlafl o:cmoi mgc6roonncoc6m" ogcrnoflcri caqolcnl crfloruro3cm oroglcu3oci
oO ocnDg c o o crri olaro oc6oJ6.

Iilil1flil]!iltilil!ililtll]

Score
oosrEffio o(o)oo6lunDsJ
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Score1. "oeJoll6ndlQocaJr$o ootqnr6 -
oroolpoororc9J6sm ocflrd" - porooo orilocDcorDooccol nileto-.rcdlamcs'oileond corcdlaer3crn3censo ?

"o%{g$€ruoJollrocaoc6aeflsoflafl o€Joo smOJloJlcmdlor o-geilcaoc$rd ooor:r:6 6gorulcormcoof
eaogfloorg[ mrflalo cruoccDo oacsrncsni " - pc orodllcrJcooruro, crucur3ardlaei3cm ocr;groocfl
oJCO€C(/)OOB Crflnn3o aoenecru,loa)eJ(oJ6,

3 a3roaf, 17 cuooorjggc-orce;cun$rd ogoroaleto 4 ooQmronolnlgrorooo o€)eloJor. cn1;c6 6 crfloro.
(4xG=24\

"oco4a,6 .LUa6Bo ocmorOmJl$ ollamllact3o

ocm3ovd crJocproo acpprtlacr3o olloodlael3o',

(gcemronefl oi - oocucgq$ gdt)

"ao3 cru3o,1m3r5laer3o crflvacoJlsrnndl ol goJo

cu goJo cu meocdlagcdlooro$o3o

omq64collafl q:oto {Dao3o,,

(aSlocroogorioo - asocrflg)
(oJoJc@aAos o.Illomngcaornc ? aonrurad onotlordlgf

oll

"poiaerreonDcmocsrnc Gro cLlccuo oceagpcoc0 pdo6re toJcoroocodo cruc,r5l4oi ? aogo I raros3aog
ag3cuo3ac6acr3g5!4fl ar6lcol3o cugacol3o crlldlgc6lsacr3cm oc,-rc4pono0ae,3cc,.rego orocllcor6ocgc pro".;
- onler6ocdl pme,m .'Joa)cmJ6yY3co) crucocloJoJo noory ? ojilroaermo oeJglJ6.
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oJo{(oJc oo) occ6mc ? cr.tcooc(/)o(uIu) mcBraocarfl oll oaEJ ffi o o-oJ g[6.
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SECOND YEAR HIGHER SECONDARY SECOND TERMINAT
EVALUATION, DECEMBER 2018

Part - III
MATHEMATICS (SCIENCE)

Maximum : 80 Scores
Tinre:2VzHovrs

Cool-off Time: 15 Minutes

General Instructions to Candidates :
. There is a 'Cool offtime'of 15 minutes in addition to the writing time of2Vz hrs.
. You are not allowed to write your answers nor to discuss anything with others durtng

the 'cool offtime'.
. Use the 'Cool off time'to getfamiliar with questions and to plan your answers.
. Read questions carefully before answering.
. All questions are compulsory and only internal choice is allowed,
. When you select a question, all the sub-questions must be answeredfrom the same

question itself,
. Colculations, figures and graphs should be shown in the answer sheet itself, 

,

. Malayalam version of the questions is also provided.

. Give equations wherever necessary.

. Electronic deuices excepr non programmable calculators are not'allowed in the "
Examination llall.

oile;c6ouila6on3gg ootcor3cril6cAtoour_rd :

. n5l6(lov:s 2t/z ae'rfrlaagil m.locorcmilcricr-gooo 15 o1orl5'a3d oco-o'ooso' geneccolkdlacr3o.

. pc mlocor(oror'co-:cn;araddo"goTDoo ooge(Dcccnc, oBggoJoJoccoll raronocorollcrfloolo
cDs(om)cccnc orcdlg.

. goroo6rBc0 o6;v3ro3crnoflcri o3cru" e-orcn;mnca 6grulcc46qo cUccollaeremo. 
^. og)Hc c-arca5eunc66oJo g(orooo o6)e3ro6rDo.

. 63(03 G-2JCBJmmJa grUrOtOOOV3OrCca OCOOO6yUnDSJOO3 aflemru)od gcr-rCo.rCGJ6Ur3So GDG(6)

cal c GJmmr dl nfl crf I cm' rol o nn o or ro o 6yurosJc ae sne o c emY.

. 6GTD6o" a3ger3ac0, oJllroeunri, 1cncon3ac6, ngnrtlor gcdyiDocrLrgcJlafl roocm

. G-oJ c€J6-6tarfi o er corc gorofl et3o m afl aJ1 coll gene"

. 66pcr ooJrpJBg cruo er orD- m)ocucaJ6TBri oacs3aosmo.
o G(cLlc(cDcoJacd o-o.rgccDcecroro acrdaer3cogo3ari aqoacor3gg 6JoJ pere(€cenllai

gcr-JeocrnoJ3o .'trdla,gcnocglot go-Lcoorccrllao3cuccrt o:cdlg.
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Score

Answer anY six fronr I to 7, Each

question carries 3 score. (6x3:18)

f. i:i+2.i -kthen

a) Write the magnitucle of / (1)

b) Write a unit vector in the direction

of A (1)

c) Write the direction cosines of 7 ' 1t)

2. ConstructA3 x 2 matrix't : fal
whose elements are given bY

r...1
lt - 1tl

u2

3. If the ftinction f . R + R be given bY

./(x) :8xr,and g '" R r R be given bY

g(x): xr' Find f o g andgo f' (3)

(3)

4. Prove that

5. a) Verity Rollc's theoronr for the

function l(-t) ==.1: + 2x-- 8 in

l- 4,21.

b) Fincl the Point ott the curve

.f(x) = f '+ 2x* B at wtrich

tangent is Parallel to x axis'

(3)

SSli 27 Mathematics (Science) 217
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Score

1 o3ornfl 7 cuoooligB e-a.rce;eoagllnil o61o<oaila3o

6 
"omrnro,lml 

ocL(o)o gOYOOOoeJ(oJ6,' occoc

o-arcn;rooflmjo 3 em2c6 ojkoo'

f. i:i+2j-kroocorcrd

(6x3:18)

a) 7 .3"t occr'dlsgodaene3o-1l6ael3a (l)

b) / co;3os rorocru'r r5lcocoile{gg cotJ6rdltioolq6

ogeJolJe (1)

c) 7 co,3os olcoroanucrt oacoomlolcrd

ogeJ.,Je (1)

I . r .l

z. A:1c,,,),a,i:L? c,oaJo oJlcuo A

nCIo'n 3 x 2 oo$6icr5l6o[lao3a'

3. ./', g n6cml o-oocn"osmJ66 cort-ocleoo

,f : R -+ R f(x) : Bx3 9og'" R -+ R,
I

g(x) : x 1 oooocafl f o g cor3o g o f 29

asna3oJdlao3a (3)

5. a) ./(x) = x2 * 2x - I o6crn olocDioecri

l* 4,2)o6crn PcflOocuelltd aocci

mJl raucotlo cordl coroaemc o6;crn" c,.l 16l

cuoccrJlaega. (2)

b) f(x) = x2 -t" 2x* I ogcrn crllararu5lcrix

rgmdrsd offfl cri cru ocffD o oco scc6 o mcfr

o6ro3 enJl cn3ojl s coerncrd aern3oJldlao3a'

(1)

(2)

(1)

(3)
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I ffi llt ililt lilt llll lllil llll llll

6. Using limit of a sum,

10. Consider the function

Score

evaluate [' x' dx.
(3)

7. Using integrals find the area enclosed

by the circle x2 * )P : d. (3)

Answer any eight from questions 8 to 17.

Each question carries four scores.
(8x4:32)

8. Express the given matrix as the sum

of a symmetric and a skew sYmmetric

Let x be an operationonA : {1,2,3,6}
defined by a * b: LCM of (a, b),for all

a,b eA.

a) Draw a binary operation table for
* on the set A. Q)

b) Find the identity elen'rent of * if any.
(1)

c) Which elements of A are invertible ?

(1)

2I

(4)

9.

(4)

f e)={b*l 'f -*<' Find the value- [cosx U x>TE

of k so that f(x) is continuous at x: 'n.

Score

6. f x' Ox ocf, oJlo eIldlg acon" mro

gicorccdlgf acmd'ocdoJe (3)

7, f + t' : o' oocm oSorirrrurofloQ ologgoJ

pcf,clcrlovc6 golccolccr5lgi aemaocacr3a. (3)

8 a3orrd I 7 orooorigg o-arcn;onglkd o6poroile4o

8 nOmtm,lmJ oc((u)o gorooooeJoJa. 5}ccoc

c-arcra;roor1m3o 4 cqPd olltoo. (8x4=32)

8. rocos oacs3oroflrdldo3cm oo1dl61om oo3

mllootdlai ooidl6jlocflcolo qIB mflooldlai

ooldl6jl ocfl @3o roAaJco;cofl o6v3o3a'

(4)

9. A: {1,2,3,6} nO* <nomomflol*ogrm

[ailcorocor a * b :a b pcucol3os LCM oqmq

crfldoloJlaer3rme, o€XUc 4b e A.

a) ,r ocfl ooerumcfl aco.lcoogcfl csenjlcb

crfl6dlocr3a. Q)

b) * cri oo61cu.rc6frlfl ogaoocfr goeneeikd

aene3oJldlo4es(6)Je. (1)

c) A cofloo pc0ocl6$enJki oocor

o6laoocfuari ogv3ro3a (1)

Ito+l if x<n
f (i=1'-" ' - '.n - oocrn o-oo@"osc'6

[cosx U x>n
n:dlcnsnilao3a. x: fi o6crn onncn3oJld f(x)

a endl cngcu crd oo o(/)-os cn caJo oJl t t'ro k co.t3o s

olla aene3oJldlaei3a.

10.

SSE 27 Mathematics (Science) 317
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Score

11. a) The principal value of
-, (-t) .

cos 'l- I 15

\2 ) (1)

(3)

(2)

b) write,*,lE -'1,, * 0,,

the sinrplest fonn.

12. Evaluate the following integrals
,dx, t-a) J x+xlogx

,dx
b; ) ,7 -*u

13. a) tf Thas magnitude 6 units, which

makes an angle 60" with the t then

the projection of 7 ot d it
(1)

Find the projection of the vector

i:2i+3j+2kon d:i +2i) k.

(3)

14. a) Find the iutervals in which the

ftrnctionf(x) : 4xi - (tx2 - 72x + 30

is strictly increasing or decreasing.
(2)

b) Find the points of local maximum
and local minimum of the above

function.
(2)

b)

SSE 27 lvlathematics (Science) 417
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Score

' 
(-t)

ll. a) cos -'l ; I o€ lanc0mlgot
olla=\'/ (l)

1 2. car c os o ac s3rurofl o1 eoJcrn pcf, tco roicnJl o o!

oJla asne3.'lldlao3a.
,dx. t-

a) J x+ xlogx

,dx
b) ) nrauu t

13. a) i cor3occoll 60ocacem3snecao3cm ;i

(2)

oJos occrnlsgctu" 6 cor3ern16cern".

ng1e16? / co;3os d collc6 coel3Sg

o1n:c*ascrt = 

- 

(1)

b) b : i + 2j + /cogcrn oclqcflc6coa3gg

i : 2i + 3j + 2k ogm oorqdlocfl

o1.o-.lcea,uc'6 aene3oJldlao3a. (3)

14. a) .f(x) : 4xi - 6"2 - 72x + 30 o6rm

onooo'ogcA toBl tqlei pc61a1mneoa"

roroog el d oril lail mflarra" ooa3cm pcf, 6

oo:d aene3nJldlao3a. (2)

b) coo3 oacs3orofl o'l6oJrm o-oocD"oeocf,

cetcaocfi oc6iloo rooogelld cetcaonfl

olcrfl oo oJletac0 algrm eollcn3aoc0

aerre3oJldlao3a. Q')

(z',)
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Score

15. a) Find the points of intersection of
the curves ! : x2 and y2 = x. (l)

b) Find the area of the region
bounded by the above two curves.

(3)

16. a) Write the order and degree
differential equation

d2'v (g\'_uL:o
xy tur**l*l . 

dx

b) Solve the differential equation
dY -1+ Y2
Ox 

- r;;z

17. Find the inverse of A= [l :-] by

row transformation 
L2 7 ) 

(4)

Answer any five from questions l8 to 24.
Bach question carries six score. (5x6=30)

18. Solve the following system of linear
equations using matrix method.

x-y *22=7
3x+ 4y - 5z= -5
Zx-y t 3z= 12

19. a) Prove that

,,, ,(i)_sin ,(*) =.", (#) o,

b) Solve 2 tan-r(cos x) = ran r(, .nr..,l]

of the

(2)

SSE 27 Mathematics (Science) 517

(2)

(6)

'Score

15. a) !: x2, t' : * ngcrnl culaeuncO rooofld
a3g1 o3g3crn eru1 cnJdo ri aene3oJ)

dlaer3a. (1)

b) aooilo.ro6ruro o6rY3J oJ6onc0aell
soJkd ggg recooroflocQ oroggoi
e6mdocd.ote. (3)

16. a) *4 *-( L\' - rL:ooocrn"dx' \dx)'dx
cuf oo o c0 odl ol rd mr ocu ca;onn1 o cfr

cuJl6rflcor3o oc0cu.ro3o ogeJroea. (2)

b) 9.\, =L:. \; oocm ruJtoooca.dlord- dx 1+x

(2)

17. A= [1 il oo3 pcrtoo.rg'cru',- 12 7lL^ -J
coclscc6ml"cooc6c oosa cO po-r c corc crfl4i

aere3oJldlao3a. (4)

18 o3rord 24 cuooor3gg c-o.rceJ6uBgflrd o61o<o

or1o3o 5 
"Omo'toAcDJ 

oc(oo gomoooelorla,.
6lc€oc c-o.rce;tururlmJo 6 aq;c6 orfkoo. (5x6:30)

I 8. rurcos oacs3orofl o1 6oJcm o o 1dl 6i cru o oi ceJ
fiBgJos o-:o'loocoo oo1s1ff o1nr1cofl nfl

ecsmJe.

x-Y*22:7
3x+4y-52:-5
Zx-y * 3z: 12

mrocu ca;onfl ocf, ot rd oocoo

eo611B(oroJ6.

oJO'loOCOo eC6InAe.

re. a) "" (i)-',,'(#) =""' [#)r. (6@oemnn"oroglcollao3a. (3)

b) 2 tan-r(cos x) : tan-t(2 cosec x) ocf,

(6)

(3)
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20. a)

Score

Find

frt r : o(,o, t + tog,,,(i)),,, = a sin t

b) Ify = (tan-txl2, show that

(t+*')' ff*2.(t+x,)L:2

(3)

(3)

21. a) Use differentials to approximate

$6s. (3)

.(*'+l\e- dx
b) Hence evaluate )-df

It3 dx
c) Evaluate | -------,! l+ltanx

6

b) A man of height 2 meters walks at
a uniform speed of Skm/h, away
from the lamp postwhich is 6 rneters
height. Find the rate at which the
length of his shadow increases. (3)

22. a) The value of 
le- ff(x)+f' (x))dx:

(1)

(2)

23. a) Find the integrating factor of the
linear differential equation
dvL- y:cos x
dx t vvr (2)

b) Solve the above linear differential
equation. (4)

SSE 27 Mathematics (Science) 6/7

I tilililt illll tilt illt iltil tilt flt

Score

20. a) r=r( ,o.r,+togtani l).l -v:asint( - \2))
dv

roocorca0 fii a,maetcdoe6. (3)

b) y = (tan-t x)2 apacal,

(t +.r,\, q+ 
2x( t_ *,\L:2\ / dX, --'\- '-,d,

orooernrrn" orurgllcoflao3a. (3)

2l , a) nrJloooor0o{lcoxtfr go.tcconcdl4;".,6 6 
^O 

o c6

o€]6eeco oJlet asrnaocdoja (3)

b) 2 d66gcooqg9aocc0 5kmh, cclcn(o-r6,1ot,

6 o160 g@ocggg oJlgao3aceJlot crJlrm"

o'oacaao- cDScr^nJ GciceJcrnJ. GT ocoogos

cnlvell aQ m1 go oco3cmrol o cf, crurcoi

aene3o-fldla'er3a. (3)

22' a) !r- ft*)+ f (x)dx ocrfl oJla =
(1)

tituc) lo t+"ttrn* a,ern3oJldlacr3a.

23' a) 9- ,:"o.s'x o€)crn ellcrfloa
dx

runo.o' oooaocOo{lcoxfr cru o crl ca,;rurufl o cfi

pocfr c icnfl eon" oocgO aene3oJl dlaer3 a,. (2)

b) coon efl cnl cor6 crllo.o"oooooc0odlco.rnfl

mtootca;o'mfl ocfl ot oloocoo 66.rIBJ

. alldlao3e.

(3)

(4)

(3)
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Score

i:3i+j+4k,b:i-j+k
a) Find a unit vector perpendicular

to both 7 and il. (2)

b) Write the area of a triangle with

a and b as its two sides. (1)

c) Find d such that the volume ofthe

parallelepipeclwith i,i unai as

its adjacent sides is 40 cubic unit.
(3)

Score
i:3i+j+4k,i:t-i+k

)-+a) a mp b mJo ero6'nJocQ) oo3 co.r3erdl6

ocr:q6 aene3c'Ildlae'r34, (2\

--) -)b) a, b po.rorcroorngccoilcrrqcm6lq

1rufl cacemomfl oofl 
"r 

o g goi
o€)e3roJ6. (1)

-+)
c) o , b ,; pcr crodor cr-Lcroeungccofl

oJ oJcrn ctJcooa oel coJl ogotl ocf,

ggggoi 40 "erm cor3enl6c6orD6o

oJlood 
"O.rn 

ocrq6 aone3o-l"l

dlao3e (3)

24.
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Qn 
No 

Sub 
Qn. 

 
                   Value Points / Scoring Indicators 

Split 
Score 

Total 
Score 

1 
 
 
2 
 
3 
 
4 
 
5 
 
 
6 
 
 
 
 
 
 
 
 
 
 
7 
 
 
 
 
 
 
8 
 
 
 
9 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

DDT ( Dichloro diphenyl trichloro Ethane) 
(NCERT page 309) 
 
(d) or SCN- ( NCERT page 240) 
 
PH3 or (c) – phosphine 
 
(d) Or Al - Aluminium 
 
Since the unit of rate constant is S-1 the Reaction is a 
First Order Reaction 
 

 In coordination compounds metals show two types of  
Valences – Primary and secondary valances. 

 Primary valences are ionisable and are satisfied with  
Negative ions 

 Secondary valences are non ionisable and are satisfied  
With neutral or negative ions. 

 The ions bounded by secondary linkages to metals have 
Characteristics spatial arrangements. 

                   ( Any Two postulates )  
 
Many of the Transition metals are used as catalyst because of  
Their ability to adopt variable oxidation state. 
Eg: Vanadium pentoxide in contact process. 
                     OR 
    2I- + S2O82-              I2 + 2 SO42- .. Iron(III) catalyses this  
  Reaction. 
 
Chloroform in presence of light undergo slow reaction with  
Air to produce poisonous gas carbonyl chloride or phosgene. 
    2 CHCl3 + O2             2 COCl2  + 2 HCl 
 
Due to the larger size of Te than S, H2Te gives out Hydrogen 
Very easily in aqueous solution. Thus H2Te is more acidic  
Than H2S. 
Due to the very high electronegativity of Oxygen compared  
To Sulphur , strong intermolecular H – bonding is possible  
in the Case of H2O, which is  not possible for H2S. Thus H2S  
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1 
 
1 
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10 
 
 
 
 
 
 
11 
 
 
 
 
 
 
 
 
 
 
12 
 
 
 
 
13 
 
 
 
 
 
14 
 
 
 
 
15 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

is a gas and H2O is a liquid. 
 
Formaldehyde on reaction with Grignard reagent ( Methyl 
Magnesium halide ) produces Primary alcohols ( Ethanol) 
                                                                                       H3O+ 
HCHO + CH3 – MgX           CH3 – CH2 – OmgX       
   
                                                CH3 CH2 OH + MgX(OH) 
 
 
 
 
 
 
 
 
(b) 2 CH3CHO         CH3CH(OH)CH2CHO 
                                                      CH3 – CH = CH- CHO 
 
Saytzeff Rule 
 - In dehydrohalogenation reactions, the preferred product 
Is that the one which carry greater number of alkyl groups  
on the doubly bonded carbon atoms.  
 
When NaCl is heated in an atmosphere of sodium vapours, 
The sodium atoms get deposited at the cystal. Cl ions diffuse  
To the surface of the crystal and combines with Na to form  
NaCl. The electron thus released occupy the anion vacancy  
And are called F – Centers.  
 
Calcination : involves heating when volatile matter escapes  
Leaving behind the metal oxide. 
Roasting     : Ore is heated in a regular supply of air at a  
Temperature below its melting point. 
 
Increased pressure under sea increases the solubility of gases 
In blood. When scuba divers come to the surface pressure  
Decreases and the gases as nitrogen comes out from blood  
And may block capillaries. This is called bendz. 
Partial pressure of oxygen is Less at altitude and can cause  
lesser amount of gas in blood as per Henry’s Law. It is Anoxia 
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17 
 
18 
 
 
 
 
 
 
 
 
 
 
 
 
 
19 
 
 
20 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(a) 
 
 
 
 
(b) 
 
 
 
 
 
(c)  
 
 
 
 
 

Sc – 21 – [Ar] 4s2 3d1 
Sc3+ -       [Ar] – All electrons are paired. Hence diamagnetic 
 
Ti – 22 – [Ar] 4s23d2  
Ti4+ -       [Ar] – Since d orbitals are empty, d-d transition of  
                Electrons are not possible. 
 
[Co(CN)6] and [Cr(NH3)6]  
 
Rate of the reaction = 

       - 
1

5
 
 [O]

𝑡
 = 

1

4

[NO]

𝑡
   

     
   = ¼ x (3.6x10-3) =  9 x 10-4. 
 

 9x10-4 = - 
1

5
 
 [O]

𝑡
 

       
       5 x ( 9x10-4) = 4.5 x10-3 
 
    Rate of disappearance of Oxygen = 4.5x10-3 mol l-1S-1. 
 

Electrical Disintegration or Bredig’s arc Method. 
Colloidal sols of metals such as Gold , silver, platinum.  
 
Stephen reaction. 
Nitriles are reduced to corresponding imines with stannous 
Chloride in presence of HCl which on hydrolysis gives  
Aldehyde. 
 RCN + SnCl2  + HCl          RCH=NH                    RCHO 
Carboxyllic acids having alpha hydrogen on reaction with  
Halogen in presence of red phosphorous gives the alpha –  
Halo carboxylic acids. 
RCH2COOH + X2                  RCH COOH 
                                   H2O       
                                                     X 
Etard Reaction - . Toluene on reaction with CrO2Cl2 in CS2 
Followed by hydrolysis gives benzaldehyde (Or Reaction) 
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25 

 

 

 

(a) 
 
 
 
 
 
 
 
 
(b) 
 
 
(a) 
 
 
(b) 
 
 
 
(a) 
 
 
 
 
 
 
 
(b) 
 
 
 
(a) 
 
(b) 
 
 
 
(a) 
 
 
 
 
 

OH group directly attached to Benzene ring will only answer 
 This test. So A may be ortho, meta or para cresol and B is  
Phenol. 
 
 
 
  
 
 
Due to Resonance ..Also Draw the Resonance Structures. 
 
 
MnO2+ 4HCl               MnCl2 + Cl2 + 2H2O 
 
 H2 + Cl2               2HCl 
The smoke from supersonic jet planes contains Nitric Oxide 
NO which reacts with Ozone as follows. 
     NO + O3             NO2 + O2 

 

 Chromate ore on fusion with free access of air gives  
Sodium carbonate 

 4FeCr2O7 + 8Na2CO3 + 7O2               8Na2CO4 + 2Fe2O3+8CO2 

 This solution on acidification with sulphuric acid give 
Orange coloured sodium dichromate. 

 Later this on treatment with KCl gives Potassium  
Dichromate. 
Na2Cr2O7 + 2KCl            K2Cr2O7 + 2 NaCl 

Di – or polydentate ligand uses its two or more donor atoms  
To bind to the single metal atom. It is known as chelating 
 ligand. 
 
Painting/ Galvanisation/Cathodic protection/use of antirust  
Solutions such as Bisphenol. ( Any two ) 
The molar conductivity of a solution when its concentration  
Approaches Zero is called Limiting Molar conductivity.  
 
 
At 500 – 800 K 
Conversion of Metal ore to Metal oxide. 
At 900 – 1500K 
C + CO2             2CO 
FeO + CO             Fe+CO2    
Ionoxide get converted to Iron. 
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(b) 
 
 
 
(a) 
 
 
 
 
 
 
 
 
(b) 
 
 
 
 
(a) 
 
 
 
(b) 
 
 
 
(a) 
 
 
(b) 
 
 
 
 
 
 
 
 
 
 
 
 

 
The solidified copper obtained from  convertor has a blistered 
appearance due to the evolution of SO2. It is called Blister  
copper. 
 
     SN1 Reaction                                      SN2 Reaction 
 Rate of the reaction depends     Rate of the reaction depends 
 On concentration of only            on concentration of both the 
  One reactant.                               Reactants. 
 
  
  Reactivity order:                            Reactivity order 
        30 > 2o >1o                                  1o>2o>3o 
 
It is because the byproduct formed are gases ( SO2 & HCl)  
And are easily escapable from the reacting system leving behind pure 
alkyl halide. 
R – OH + SOCl2                R –Cl + SO2(g)  + HCl (g) 
 
Ferromagnetic. 
When placed in a magnetic field all domains get alligned in 
The direction of magnetic field and it persist even after the  
Magnetic field is removed. 
i) Insulator – Plastic 
ii) Conductor – Mg 
iii) Semiconductor – Si 
 
Binary mixtures having same composition in liquid and  
Vapour phase and boils at a constant temperature. 
 
 

Given that 
Vapour pressure of pure liquid A, PoA= 450 mm of Hg 
Vapour pressure of pure liquid A, PoA= 700 mm of Hg 
Total vapour pressure, ptotal= 600 mm of Hg 
Use the formula of Raoult’s law 
 
600 = (450 – 700) XA+ 700 
250 XA= 100 
XA= 100/250 = 0.4 
Use formula 
XB= 1 - XA 
Plug the values we get 
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i) 
 
 
ii) 
 
 
 
 
 
i) 

 

ii) 
 
 
 
 
 
iii) 
 
 
 
 
 
 
 
 

XB= 1 − 0.4 = 0.6 
use formula 
PA= PoA× XA= 450 × 0.4= 180 mm of Hg 
PB= PoB× XB= 700 × 0.6 = 420 mm of Hg 
Now, in the vapour phase: 
 PA = yA x Ptotal 

 YA = PA/ Ptotal = 180/600 = 0.3 

PB = 1 – 0.3 = 0.7 
 
 
It considers the metal ligand bond to be ionic and there in  
Only electro static attraction between them./ Ligands are  
treated as point charges /  
This Question May create a little confusion among the  
students. It is not specified whether they have to draw CF  
splitting in Octahedral or Tetrahedral CF. 
Any diagram given in NCERT page no 251 / 252. 
  Series of arrangement of ligands arranged in increasing  
  order of their field strength is spectrochemical series. 
 

  Ligands for which 0 < P is called weak ligands and form 
    high spin complex due to the absence of pairing. 

   Ligands for which 0 >P is called strong field ligands and  
   form low spin complexes.    
 
By heating in aqueous Sodium hydroxide solution at a  
Temperature of 623K and 300atm pressure. 
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iv) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
(a) 
(b) 
 
(a) 
 
(b) 
 
 
(c) 
 
(d) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Contact process. 
CaF2 + H2SO4             CaCl2 + 2HF 
 
Impurities react with flux added to form slag and are  
Removed. Eg: Silica in Iron is removed as CasiO3 (Slag) 
Leaching is the process of concentration of ores in which it is  
Soluble in a suitable solvent and impurities do not. 
 Eg: Concentration of Bauxite (Ore of Alumina) 
The low melting metals are heated on a sloping surface and  
It is separated from high melting impurities. Eg: Tin 
The graphical representation of Gibbs energy which give 
A sound basis for choosing of a reducing agent is called 
Ellingham Diagram. 
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SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2018

Part - III
BIOLOGY

Maximum : 60 Scores
Time : 2 Hours

Cool-offTime : 20 Minutes

'General Instructions to Candidates :. There is a 'Cool off time'of I0 minutes eachfor Botany and Zoologt in addition
to the writing time oJ'1 hour each. Further; thgre is a '5 minutes'preparatory time'
for Zoologt at the ehd of the Bgtany examination.

. Use the 'Cool off time'to getfamiliar with questions and to plan your answers.

. Read questions carefully before answering.

. Write answer to the specific number of questions as instructed.

. Calculations, figures and graphs should be shown in the answer sheet itself,

. Malayalam version of the questions is also provided.

. Give equations wherever necessary.

' Electronic devices except non programmable calculators are not allowed in the
Examiniation Hall.

cJle;cdrooladei3gg ocr.rcor3crildcgcaeuntr0 :

. crflO(lods cruooloruflcrlcLgooo aerucaenllggo crugecucgdlggo l0 dlcrrl$ ollroo'a3c6 acoo'ooso'
genecoilrdlacr3o. aJscoo cerucgenfl otolaeEgco?oso'5 olcrfl;i" cru3eclcgdl orolavgg
oot c o o sJg+a 6 m s onr3cm ofl m coll m cfl a.3cm roc em:,

. 'a,Jst acoo" ooso' eo.lcr:;amc6 cr.rdlotoodscmJo gonnoanrd otgcruJ(tocno o-algcmJo
gcr.tcocCrilaer3a.

. 
eonDo6uBc6 ogv3lo3crnoflcrl o3mJ cotcra,lond 6grUlccr-g6go cuccqildo6rDo,

. o6')5t{c oJlecooruflego crflOcgcrtlaoodg o€)So coJccJduBcbao" oclroco eoyDoo
oOeAG(6)6IB(u)Jgg,

. aernasfaggetad, -oJl(roanac6, ioco.qa6, o4cnflc! gonDoccJdcilafr oronn gsrncofldlaoemo,

. GrEoJ@Jqgg cruo oru'ro" cruooJ c6J6ul36 oacs3aoerno

.,caJcBJ6uBc6 oaocgorufl ego mrdaloilgend',

. a(nJctocoJaca aorgcmcacorD acr6oo3oa6o3ac6 egoao3gg 6oJ peJc(tcsnflCgamo
6mo+o cu rdl asu c ooc g! rd gol c orc crfl ao3ru c c6 ot cdl g,
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PART _A
BOTANY

Maximum: 30 Scores

Score
Answer all questions from I to 4. Each
question carries I score. (4xl=4)

l) Observe the relationship between
the first two terms and fill in the
blank.
Fungus and alga: Lichen ;

Fungus and roots ofhigher

2) Choose the correct answer.

Vegetative propagule in water
hyacinth is :

A) Bulbil
' B) Rhizome

C) Offset
D) Bulb

3) Fill in the blank.
Detritus food chain begins
with

4) Infestation of meloidegyne
incognitia in the roots of tobacco
plants can be prevented through a

novel sffategy. Name that strategy.

Answer any ten questions from 5-16.
Each question'carries 2 score.

(10x2=20)

5) Write the steps involved in the
production of genetically
engineered insulin.

il.

SSE 26 Biology 2ll2

ililil]til]tiltilflilil]ililr

Time: 1 Hour
Cool off Time : l0 Minutes

Score
I. ocm3 o3ornfl mcei ruooor3gg oOHc ar.JcBJ

ono6ao3o poyooo o€)9J(oJ6i, 5lccoc c-o.JccJ

rorui'lm3o I ccrgcO oflroo. (4xl:4)

1) nrpr:;ooro o6re" crJB66Bd moolet3gg
6rllffuo ommJlscaeJl oJlg co-rccor recoo
o-:3o1gfao3a.

o-Oo(',ffDJo Or9Afl O:COl3o : ooetaerc6;
MoU)ffUJo gCOrarrn cooo crucruJ5'u'Bgos

sOJoJo

2) cooTcorcaot gorooo ofl ooemms3ooJe.
6Jgot c.ycsr'l o s accot'l e (oJ gmm
Gccnoc6rD":

A) arcOorllci

B) ooocmlco

C) ac"o"ocru6

D) eruc6ear"

3) oJgcn-rce) Gcu)o o-t3o16fao3a.
ru,tl 1dl 6od rea,quoJooJ eJ orgroodleo3cmoi

o? cr{lcmcem".

4) o4acofloo4dlco.r3os cclold o@EeJpgU

ooQCI pro-oop<ocrrlcgJ(oJos GIo laosmo
coscor3rrncfl mccoll oo3 mJrom oc6cnocem"

cruladl+flrdlacr3cmroi. raro ocOcoo n€lroi ?

II. ooerol qcord .r.roilmcci cuooe,Jgg o-a.JcGJ

6uBdlot o6ooreilego 1 0 ogep<urur1m" gororoo

o€)e]oJa,. 6lccoc cotra;ruro1m3o o6lre" c(pc6

oJlroo. (10x2:20)

5) acr{kura ogoollcrllcortlocrilegos pc6cru3ellc0

crflOdlao3cnfloo! "etgamc6 o6v3rur3a.
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Score

6) Define eross breecling, Namc the

breed of sheep cleveloped in Punjab

through eross breeding.

7) Observe the pyrarnid given below

Scorc

c lacml tenJl or5l ocdl nf nfl 6cuol mo

o€)eJoe6. clacmf lenJl cuilocrJl et3os

ru erpr cenJl rd oJl oamil fl er4 sJorlt)

oo.toodlocdlocfl pmo n€lci ?

-o.{oJ os mrda,Sl oll dlao3nn oJl odlru.l

crfldladlao3a,

3, 54, 000

708, 000

5, 842, 000

oJl oolatJl ocQ c oJ ooeJroJe.

-ngoios mrdailafldleo3crn Gtun)o gclcco cu5l4

ao3 oJlooflo,ti c:rrogB6.

PC 2I
PP4

8) eo crum.YrocrJlco.rccor mJlellcdofoeSlmdlcolld

e$cojgg ao3 orcg! oacv3gigene:,

p'c oacv3gio-JcglcolSos co-toocrol" ? pt
olcglcor3os ttraoo nOCnD" ?

9) nrogologgg dlm3agos o-tgoocoru5lao

o:a6gad PCR er3os crfldolaoccfl

aflor3o, PCR oJl*gefladlao3a,

Potl oQ negernrfr oOeJ.,Je

10) oomcm6dlcwgagld aoomoflQrm a$
aoJgg cocube,leal eeen6uagos GoJoo

eJ(r)J6 GrooJaa{os ul6oo n€)eJoJ&,

I I )'ococ(ro a(ruilaast' og;cmdlorogsecm

occroccnJl .$ftd ? Gloorooo ocm.lccn5laer"

6roJ qc0or)o6rno o€)eJ(u)Je.

6)

7)

TC (Tertiary Consumer)

SC (Secondary Consumer)

PC (Prirnary Consumer)

PP (Primary Producer)

Name the pyramid.

Drau' a pyramid using the following
ciata.

PC 21

PP4

8) Aquatic mammals like seals have a

thick layer of tat below their skin,

Name this layer of fat. Write the

function of this layer.

9) Multiple copies of the gene of
interest can be synthesised through

PCR, Expand PCR and write its
steps.

l0) Naure the special cellularthickenings
present in the synergids, write its

function.

ll) Narne the enzymes known as

'molecular scissors'. Give an

example of such enzyme.

SSE 26 Biology 3/12
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Score

l2) Transgenic animals have many uses

to humans.

Name the first transgenic cow,

Name the protein contained in the

milk of this cow.

13) The seral stages of hydrarch

succession are given below in an

incorrect order. Arrange them in

correct sequence.

Forest, Reed-sw&flp, scrub

phytoplankton, Marsh-meadow

Submerged free floating plants,

Submerged plants.

14) Match the iterns of columnAwith B.

15) Name the bacterium from which cry

genes were isolated. Name any

two kinds of cry genes.

A B

b,

t-.

d.

Desert Lizard

Kangaroo rat

Snail

Zooplankton

i)

ii)

iii)

iv)

v)

Concentrated

urine

Diapause

Bask in the

sun

Aestivation

Hibernation

SSE 26 Biology 4/12
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Score
12I e:: :l6ecFo cxro;c6m'1co.r o,lcno"onc0

- ::^ ls:,0ai",.,_-l a o1oilcoJla0 go-.iccorccn

_ )L-C )

:Jp G; : 3Ct qcolroaocgo clJoJrdrrJlo)

::- :.t^oj Oot CcLJo@crD" c OB o:Clo3OjlOcfl

^-^:^e j8B ococroJcd'rdiloQ co_rooooi ?

13) ea"-olcLuc6ai crugovocrfl crolod .et3

r-cO onrrBcoJ laoomlrd _o_t3clos

:l iai coll olao3onJ. GrooJocor cool co.rccor

aoroojlo$ oOeJoJ6.

11) cacgo A co.r3o B co.r3o c-c.toSoots')

- _ i ^^. ^€.) (udorld).

I 5) oo1a, dlm3a,c0 cot6oilolo-gs3rrmcai

n6nri a:l cglolco;nrmllo? eolcmcsrn" ?

o43o aneeJl alo odrrs" ool.a dlm36$os

Go-loo9.lnllJ6.

ilcDo, o1o.r-1" m)Jcm.J", tcrJ6nJ".

.f ixJgJolac, oc6osx' oocmc, o3eur{laefl

sdrrJ.rn(1')so cru.lrolcooccol ev3a1
.0 saoJcmotJo cal m cruJeon c6, o3arfl ao1

saoJcrn crucru;err:6

A

a, oo;e:iclea I i) a$co,;ggo31roo

...lfll

b. aaococo3 o6el I ii) c,ucorccarccrd

c. o4" liii) ocuolld

accorotr

d, *oor3ggcrrao liul ogpfcoovot

v) ooooea0cmogoa
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Score

16) Analyze the table given below and

fill in the blanks.

III. Answer any two questions from

17-19. Each question carries three

(2x3:6)

One of the irnportant features

cloning vector is the presenoe

selectable marker.

Write the role of selectable

marker. Name the selectable

markers used in PBR 322.

Write the other two features of

cloning vector.

Score

16) o-r3cuos mdailcollrdlaoJcrn ot$a, ollco

isejcDo o.aJql oJlS cn-lccol tacaeaech

ot3o1flao3a.

UI. 17 agord 19 orooor3gg oorcra;eungikd

o63oroailo3o oo6rregf oyolm- gruvuloo

o€)eJoJe. 5rccoc colcra;<urolmJo a3ffn"

aapcd oll<oo. (2x3:6)

l7) c&centlocri ocuqo36sos coJ (c'Joccn

og3 mloJlccrocrgrocorcern" ocruerqenJlca

ocOaero3agos mlccnfl cu;o.

a) omloq enfl o6 oc0aeto3eg3os

oJosc/o" ? PBR 322 6l ggB ocruer

€6rrisA ocaaoo3aca ooorogco ?

b) c6cerdlocrioor€o3agos o6 oarn"

mrojl ccaog (oac6 o6;v3ro3a,

of

of

t7\

a)

b)

A B C

Monarch butterfly and bird
oocemc6aer" oJl lrocoa reo4o otaMl cot3o

Predation
pooJldloroo

Cattle egret and cattle
oacflago ann3aceJlago

Beneficral to one species and the other
species has neither benefit nor harm
ao3 dl cil cr 6 <ncarofl crf <n3emo, oc 6ofl cri <n36lDc o c

G€Coga0c peJ

Ticks and dogs
o-eJgglo cnco@Jo
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18) Observe the terms given below.

Natality, Mortality, Immigration,

Emigration

Identify and write the terms that

increase population density.

Substantiate your answer with

suitable explanation.

19) Observe the figure given below

a) Name the technique illusfiated

in the figye.

b) Explain the process ofseparation

of DNA fragments through

this method,

Iilililtililtiltllllililtilililt

1 8) -c-:r: as maflailcoJlolaoJrm o:r:aon6

iola*ilaoJa.

mc6cell$l, cocdgcellfl , pdlcloovcri,

ogplclolrvc6

='a.ruoodJc 
m)c(cBo cu6uJl6llaer3cm otr:

;:nd coJl ooot'msJ6oJ6. cndlco.rccot oJlcnrjla

r erno mo?a1 go'rooo mcu-r3ad1aer3a.

I 9) -:.:3o.tos mrdalqrldlaer3cm o_Illroo crfldl

a'daer3ar.

oJl tro oon m m3.aJl Cdlolao3rm
(oJ(6il@ n€lruf ?

po (oJtalooflajos DNA
ro3erngad aru 6ofldlac4nn rdkull

oJloraocao3a.

a)

b)

SSE 26 Biology 6/12
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I lillill lill lxl llll lllll llll llll
PART _ B

ZOOLOGY
Maximum: 30 Scores

Score

Answer all questions from question

numbers I to 3. Each carries one

score. (3xl=3)

1. ABO blood grouping in human beings

is an example of

Incomplete Dominance

Co-dominance

Linkage

2, Note the relation in the first pair and

then cornplete the second pair.

Purine : Adenine, Guanine

Pyrimidines :

3. Expand the following in relation to

assisted reproductive technologies :

a) ZIFT

b) ICSI

Answer any nlne from question numbers

4 to 14. Each carries two scores.
(9x2=18)

4, Typhoid is a disease caused bY

bacteria,

a) What are the symptoms of this

disease?

b) Name the pathogen and the

confiflnatory test.

a)

b)

c)

SSE 25 Biology 7ll2

Time : 1 Hour
Cool offTime : 10 Minutes

Score

1 o3ronfl 3 cuooor3gg 
"ORlc 

c-a.rca;eundao3o

golooooeJ(oJo,. accoc c-a.rcoJrurolmjo eoj ccrpca

oll<oo. (3x1=3)

l. om3.,v;rdloa ABO odro(cDJtSec6 n6mfl

oc6o gracoooemocern" ?

a) reccrlle (oJas mUBcoJo

b) crunoiotoJduro

c) cruooacmor

2, eflrtooooro ceruJleJlos eruruo ocrrcfflooee!,

o6rncoooro cgcruJl .'g6oroSlconao3a'

orgolm3ari : Gooo,Dcdl c6, cnlccn"lco

oJlo1o1nrflm3ac6 :

3. lolcogrololcGm m)ooc@cruccaofl a oJLa;

&aroe611 enrmlofl 5 tocoe rocnflgggcuool

ollcr-gelladldole :

a) ZIFT
b) rcsl

4 qo,of, 14 cuooor3ggcorce;eun$cil o,goouilego

arfrn rrui c-arce;eundaef goroooaeJrola. 6ccoc

aarco;ruroflmjo oern" ecrYc6, (9x2=18)

4. erucqldlo e6TEcdoJcm oo3 cocoocem"

oosao.ocoilcD:,

a) go cocooruJ'locf, aa,oemenecb

ogocrurgco ?

b) coccncemgctlloQ Geuoeo cnrdldlaoem

cr.t dl c(octumQ)So s GoJ oJo o{)9}oJer,
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Score
5. This principle says allele frequencies in

a population are stable and is constant

from generation to generation.

a) Which principle ?

b) Name the factors affecting this

principle.

6. Match the following :

rilflrilililtilllil]tililtil

Score
a o; d) cl otocr$ coll oer dlc6cua creoco6rorufl

o a rloa 6 c olc oJo crud'locu3o rllcuoogoccoll

olaotoocrn" pr (o(6rojo clJoa)8cm3.

a) o>olorto ngoi ?

b ) B r c)crrolotum 6Tlcullael3cm netsaamcd

o0eJroJ6.

6, c:-e3oo:dl cot6ao3e :

Neanderthal man
crflo cc6cu6roafl om3ov;ot

Hunted with stone \\,eapons.

cr6l accor3uternc0 oacere" c ot gcotcdl,

Australopithecines

roo toScer co_Il ronn o omtc6mj

Fossils discovered in Java, large brain around 900 cc,
probably ate meat.

coocmlla3acfi eccr.lcofld aoerncorufl, 900 cc carcgqBg cuejlcor

otr;leo, ococruo readlgfl o3ocmcm" 6oJ@JcrnJ.

Homo habilis

cooccoc oocenjlellcnf

Used hides to protect their body and buried their dead.
cnrdloo mroardlaenc6 qyrrco-roce4a<A gorconongf qnrB .

ql(T)GGor)5TB6 rqosdoo oor $ o3crn3.

Homo erecfus

cooccoc poa"Scruf

Brain capacities were between 650-800 cc, did not eat
meat.

ocrArlcrg cuellgo 650-800 cc, ocoffDo rea.{lgflo3mflg.
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I illilil tiill tilt ilit ililt ilil ilt
Score

7. In order to code for all the 20 amino

acids, the genetic code should be made

up of three nucleotides.

a) Who suggested this ?

b) List any four salient features of

genetic code.

The follor,ving figure represent central

dogma.

Score
20 roroolcmc Gn[BtrBogcolJo G&ccl,DJo-oJ

gcol, ao3 ecnlroa qacolr'lail (genetic

code) 3 m;61ccorc oogcrDJad gerncoll

dlaoerno,

a) pot" crfl6cgu6l4 rocro' ?

b) *crflola cacruIlocfl ogoroe5ler3o mcel

Loltl)cm mlreccueunc6 o$93to3e.

rocovrocnf| ggg -oJlltoo ee(cn m.flnoccmooro

(central do gma) oJl 1ofl ao1aer3crn3.

tr-anslation 
,, protein

a) calcnmJld)ccroo crflOcracrdlgrocro' ?

b) ,nO mr'lnuccttlo o€)oDc6m'

1o: cgrcoJl aer3crn rui ?

rarodeu3ocacsoeuBc0 ro3s6 4;colccol oJIe

dloli sgoo3ac6 oocrn Garc(o m)o3oo

6uBg6recatcrnJ, sJloolacb oern3rooqond,

Gnoroao ogoJd6rl oJl orJlardlao3a,.

g@o€oJsJ@er3o oeruroloflorDduaa (TtYy)
ao3 oorslo@, gaoroa'oeseotetio cu4J
oJlcrd)JoJgg (Ttyy) ao3 ootdlo3ocoll
cruEbo5mo oeJqJ .

a) n:om6" r.J@Joo gotcoccrflgf, ocoe
Hoa)Jcm cd@JoloJ 5ruB$os GosJGr0)

ora o3oo/l o a GomJaJ croo 66rEJ
oJldlaer3a,

b) goroaer3sSoe{o oJqcoJo

c) gcoroaer3ocuSo crJ4@Jo

7.

8.

lleplication

9.

a) Who proposed central dogma ?

b) \\rhat does it state ?

Cancerous cells continue to drvide

giving rise to rrasses of cells called

tunrols. Tunrors are of t\ /o types,

Briefly explain them.

A cross is rnade between tall pea plant

with yellow seeds (TtYy) and tall pea

plant u,ith green seed (Ttyy)"

a) Using a Punnett square, workout

the proportions of the following
phenotype in the off spnng.

b) Tall and green.

c) Dwarf and green

9.

10.
10.

SSE 26 Biology 9ll2
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Score

11. An individual affected with a genetic
disorder is short stafured with small
round head furrowed tongue and
partially open mouth,

a) Name the genetic disorder,

b) Write the chromosomal
composition.

12. Arrange the steps ofDNAfingerprinting
in the correct order.

a) Transferring (blotting) of separated
DNA fragments to synthetic
membranes, such as nitrocellulose
or nylon

b) Detection of hybridised DNA
fragments by autoradiography.

Isolation of DNA

Hybridisation using labelled VNTR
probe

e) Digestion of DNA by restriction
endonucleases

f) Separation of DNA fragments by
electrophoresis

Homologous and analogous strucfures
are evidences of evolution. With
examples explain homologous and
analogous struotures.

e)

d)

13,

SSE 26 Biology 10fi2

I ilililt llilt til lllt ltil illllill

Score

11. ac qc{roto ooril 6aJo 0atouJ14 ru;arufloo"

Qa,odoJooj" oorolol eoJsrE roa,
1 io iaa cncdf,r:, oooio-to anSorm rucoloonill
a- Qi^err?",

a) gorora oootaa;rurofleicfr crud
ooeJo36.

b) cla,coccfuco cruocooJofl o61V3ro3a,

12, c*f n9c6 n0 o-dlocD6 toJcfrleurfloet .etg
5T3 o g ryool corcooj looro.rollar? oO gJ(u)Ja

a) cc!6oo.rs3omlcor o.ut. o6o0. oO.
oJsm!5UBOg (OOmclsc ocrug3caccrd,
e ocDGetcenO nOcml) ml 6ao,lroo3lo
(s1'nthetic membranes) eung!cerao"
/ia^.4gwr,199

b) accgc coo_rJlccorclo:o_ol go-.:ccor cur4
c1) so nJl.nooa. n6l. oJ6mtr5TBoS nfl dlr:
dorot

c) ..r-! nCIo0 n6cotaos co.r6ollnJ1aoo?

d) eosercgogs3eamfl cor VNTR G(cJc6,Dr,
p ot ccot c cr114gp m es(o 6mo

e) oomitdlarot ogotaotrcm;610ocru"
oacsrBJgg od ogca. og) arJos
€onCno.

0 petc1qoaoocoomJl crty oacene"oirJl, o61c6,

oo. at6mJJ6dt3geis ccl 6oots3eooo?,

13. cruogororaoocrBgo mmo6o (eccD6CIBgo

cr-r o1 orn c o anol o rf, o rrr 91 ftlJ e g c 5m,,
cruo4Co€O(n6dt3so mlocufr o ccc0ru]3go
p e c oo o 6rn cruool nrro oll cnrJl adlao3a
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Score
14. Innate imm rnity is accomplished by

providing different types of barriers to
the entry of the foreign agents into our
body. Name the baniers."

f_nswer any three from question numbers
15 to 18. Each carries three..;r;;irrra,

15. The figure shows the process of
transcription in Eukaryotes.

Score
I 4. m.r1c re coJl a 1o.r ofl o asr m)c eqo cd.oJ crn co-,

G'DmJoJ crpJd,o c6 coo1 o rulujl afl asao3nnro1
cri oJloJlo rosm;oncO cru6@4oacenecem",
cto @sm)6-68c6 o6yv3ro3a.

tS qyd 18 cuoroor3gg c-oraalanrylnfi o6,3oomilego
oJffn" c-e.rc6Jonr6acl- gruro.. .gqr3i.

6ccocc.a.lco;rurolmJooJrm"aogct0. (3x3=9)

15. mcucaccnlagfloa (Eukaryotes) o_.ra0
ogs3aoeilocf, (transcription) 

[oJ(6,1a)
corcern" _2fl 1ru.rtu.nil nfr a,cenflgfl o1ao3cmro".

5',

J

j, mRNA

IG^-- ;rr';"i''t ='*t't " a,,,,,,-,",,", r'**re 3 
t

5' Pt'P

Messenger RNA (m RNA)

a) Explain the terms

i) Capping

ii) Exon

iii) Intron

iv) RNA splicing.

b) Differentiate heterogeneous nuclear
RNA (hnRNA) and mRNA.

a) n:oonc6 oJlorJlodlao3a 
:

i) a1cgl66B"

ii) ogcgcena

iii) poOclscerrO

iu) .oa. nOm. ng). o4mcpoccocemo

b) ono6coc g.lmmt" m;61corc6
raro6 ogc,6. og, (hnRNA) o6o, rso6.
ogcr0. o6. (mRNA) 

"grnrlocolJoso{roJccruo o€)eJCoJa,

frrr'" \+,;' 
t'aot" 'tas'i;:'/f

Exon .-..'''

.G \.' 
RNA splicing Polyadcnylatiorr

5' rI'P 
a a" I ...p,,,,,$,,r,'n"' ''3

.G .P'" PolY A tail

5' 
PI'P
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16,
Score

Placenta acts as an endocrine tissue

and produces several hormones,

a) What is placenta ?

b) List the hormones produced by
placenta.

c) Mention other functions of
placenta.

Complete the table below by
using appropriate terms regarding
contraceptive methods.

Ifltiltililtiltilflililtilillil

Score
I 6. oo3o-Jl gp 53oJ cocrn(crucoll lcomdl co.rccoJ)

io-t cl 6 raol1 a"o36 co3o cooc6cocem3ar,6
pr: ot cd gf ao36a)Jo oe_t q]crnJ.

a) rao3oJlgg ogcrncafr 
"Ocm" 

?

b) oo3oJlgg gr:"otcrJlgfao3rm cooc6
cocem3aca ooeJ(DSa

c) oo3o_flggcor3os og <l6meunc0
o€)eJ(DA6.

17. cn 6 e ml G occucncnoc 6 cl:6-68 93o ccol
G-n r mlJoilS g_cJlroocal o-J rsdor:c0 goJcarc
c.dqi orcov oacsJaoJrm u$l a .rg6c.rd1)

e0)36oJ6.

t. Female heterogamety is seen in
birds,

a) What is female heterogamety ?

b) Name ttre type of sex-determination

seen in birds.

c) Wittr examples list the other types

of sex determination

18. crladlag[lrd lqplrdlrmennEBBCDa{olo
65rEJ clJolnnJ,

a) 1cry1dlcrn enJlqsmacrJo ognncd
o€)ffO" ?

b) otadle,gfloa elloocrfl6emo olofl
ooeeoJ6,

c) ogJ o1ocn ml6ernoo1ro,la6
gccooo6rn mlorllroo mo?aga,

Natural rrethod

lclagoflr:oro ac da effi ul _a_
Surgical rnethods
cn top laJl co; oc6 cD 668c6

Withdrawal or coitus
intemrptus
ojlotcuconafl roroncuc

co.!366m OOotQmo

Condoms
(/)6ecdlcoc(xm

goad _c_ Non-medicated IUDs
a"cog0oorrol IUDs

Tubecromy

oosmlmc$ Grrooo
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Part-III 

Zoology-Answer key 

Qn Answer Score 

1 Co-Dominance 1 

2 Thyamine, cytosine, uracil  1 

3 a)ZIFT-Zygote intra fallopian transfer 
b)ICSI-Intra cytoplasmic sperm injection 

1 
1 

4 a)Sustained high fever (39° to 40°C), weakness, stomach pain, constipation, headache 

and loss of appetite are some of the common symptoms of this disease. Intestinal 

perforation and death may occur in severe cases 

b)Salmonella typhi,  widal test 

1 
 
 
 

1 

5 a) Hardy-weinberg principle 

b) i) Gene migration or gene flow, 

    ii) Genetic drift,  

   iii) Mutation,  

   iv) Genetic recombination and  

    v) Natural selection. 
 

1 
 
 

1 

6 a-iii 
b-i 
c-iv 
d-ii 

 

7 a) George Gamow 

b)any four salient features 

1 
1 

8 a)Francis Crick 
b) It is the unidirectional flow of information form 
DNA-RNA-Protein 

1 
1 

9 Benign tumors normally remain confined to their original location and do not spread to 

other parts of the body and cause little damage.  

The malignant tumors, are a mass of proliferating cells called neoplastic or tumor 

cells. These cells grow very rapidly, invading and damaging the surrounding normal 

tissues. As these cells actively divide and grow they also starve the normal cells by 

competing for vital nutrients. 

 Cells sloughed from such tumors reach distant sites through blood, and wherever they 

get lodged in the body, they start a new tumor there. This property called metastasis is 

the most feared property of malignant tumors 
 

 
 

2 

10      a)               Tall pea plant with yellow seed   × tall pea  Plant with green seed 
                          TtYy                                                   ×              Ttyy 
Gamete         TY  Ty  tY  ty                                                      Ty    ty 
 
                                           TY               Ty                tY              ty 
                               Ty 
                                
                               
                                 ty 
 
 
 
b) 3 
c) 1 
 

TTYy 
Tall 
yellow 

TTyy 
Tall 
green 

TtYy 
Tall 
Yellow 

Ttyy 
Tall 
Green 

TtYy 
Tall 
Yellow 

Ttyy 
Tall 
green 

ttYy 
dwarf 
Yellow 

ttyy 
Dwarf 
green 

 
 
 
 

1 
 
 
 
 
 
 

0.5 
0.5 
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11 a)Down’s Syndrome 
b)45A+XX or 45A+XY 

1 
1 

12 Arrange in the following order 
c-----e---f----a----d-----b 

 
2 

13 Homologous organs 
 Homologus organs are organs having same structure and origin but different 
functions. This phenomenon is called homology. such organs are developed due to divergent 
evolution.   (any one example) 
Eg:1) whales, bats, Cheetah and human (all mammals) share similarities in the pattern of bones 
of forelimbs  
Eg;2) the thorn and tendrils of Bougainvillea and Cucurbita represent homology 
Eg;3) vertebrate hearts or brains 

Analogous organ 
 Organs having same function but different structure and origin. This phenomenon is 
called Analogy. Such organs are developed due to Convergent evolution (any one example) 
Eg;1) Wings of butterfly and of birds  
Eg;2) the eye of the octopus and of mammals 
Eg;3) the flippers of Penguins and Dolphins. 
Eg;4) Sweet potato (root modification) and 
potato (stem modification) 

 
 
 
 
 
 
 

2 

14 Physical barrier, physiological barrier, cellular barrier, cytokine barrier  2 

15 a) I)capping : It is the addition of an unusual nucleotide (Methyl guanosine triphosphate ) 
to the 5’ end of hnRNA 
ii)Exon : It is the coding sequence  in hnRNA 
iii)Introns : It is the non-coding sequence in hnRNA 

                   IV)RNA Splicing : It is the process by which Introns (Non coding sequences) are              
removed and Exons are join together in a defined order to form functional mRNA 

 
b) The RNA Produced as a result of transcription in Eukaryotes contains both Exons     

(Coding sequences) and Introns (non coding sequences ),such RNA are non functional. 
Such RNA is called hnRNA (Heterogenous nuclear RNA) 
mRNA contains only coding sequence. hnRNA is called precursor of mRNA 

0.5 
 

0.5 
0.5 
0.5 

 
 

1 

16 a)It is the a structural and functional unit between developing embryo (foetus) and maternal 
body .-Placenta 
b) human chorionic gonadotropin (hCG), human placental lactogen (hPL), estrogens, 
progestogens. 
c) 1. The placenta facilitate the supply of oxygen and nutrients to the embryo  
     2. it helps in the  removal of carbon dioxide and excretory/waste materials produced by    
the embryo.  

1 
 

1 
 
 

1 

17 a-Barrier method     b-IUDs 
c-Vasectomy                d-Lactational amenorrhea  /Periodic abstinence  
e-Cervical cap/ vault/ Diaphragm 
f-Medicated IUDs 

 

0.5*6=3 

18 a)Females produce two /different types of gametes 
b)ZZ-ZW mechanism 
c) XX-XY  Example= Man , Drossophila 
     XX-XO Example = Insects 
    Haplo-Diploidy Example Honey Bee 

1 
1 
1 
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SECOND YEAR HIGHER SECONDARY SBCOND TERMINAL
EVALUATION, DECEMBER 2018

Part - III
CHEMISTRY

Maximum : 6o Scores 
Time : 2 Hours

Cool-off Tirne : 15 Minutes

General Instructions to Candidates :

. There is a 'Cool gff tinte'qf I5 miru,ttes in acldition to thettriting tin'te af 2 hrs.

. yot,t are not allowed yo y,trite your an.twers nor ttt discttss anything wi.th others during
lhe 'cctol olf time'.

. LIse the 'Cool o-ff time'to getfamiliar with questions and la plan you"r #ilswers.

' Read questions carefully beJbre answering.

. All questions are compulsorl'ancl only internal choice is allawed'

. When you select a questiort, all the ntb-questions must be answered frnrn the sarne

queslion it.selJ.

. Calcttlalions, figures and groplt,s sltouki be shov,n in the Qn'\w)er sheel it.s'elf"

' Mctlayalam versirtn of the cluestions is also provided'

. Give. equations v,herever necessary^.

. Electronic clevices except non programntable calculators are not allowed in the

Examination llall.
oil ra;c 6 rool a, ciaoggg oor c oi3cn1 6 c g cn eun ri :

. cril6(lov"s 2 oerdlao36 croocororinlcn'oJJooo 15 olcrtls''a3c0 ccc,-ri'o6'tso' gsneccofloloo3o.

. p.c cruocolcoro" c-olceJeondao" gcorooo o€)eenDocmc, oFBggcrlroJoccoll rorOotcotcr-flcrilom.ro

cnsorDcccnc olcdl61.

. 
91,6ro1 o 66rrc6 ogv3rur3cm ofl cri q1ou" c o-l c o;eun cfr ,gg ru-rco:3O q; o Cr-L coJl aelomo.

' o6El c c-a-l co;eunc060Jo pcfro oo o.s;ej{E6lno.

. 6t(cJ c-oJcgJmmlft gorotooos3 ot'la'oroccfr golc-ol3cJ66l3$o cract6t

c-ojcG;mmlarlnfl cnlrm" (o)ocro 6m'

. co6TDdo'a3ger3aca, oJlicoernc0, 1cncon3ac6, norflrcrr gcrnDoe.,j(ilcfkd ro)ocm genacmllollaosmo

. e-o-l cGJd6Bc0 o et orcgorufl o3o mo?all coll gene'

. GlooJC/oJoBgB cruoel@'ro" m)oolcaJ66Bc0 oacs3aoerno.

. G(.,Jc[cDcoueca o-orqcmcac(dro acrflaei3cogo3oc0 asloaot3gg eio] pelG[€cenflai

pcr-.lao6mcxJo oJrdla,gcooc$(fl goleaorccrflao3clccfl olcdl5g.
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Answer all questions from 1 to 5"

Score

(5x1=5)

is the first chlorinatecl

b) FDTA

d) sa-rN

(I Score Each)"

1.

a) en

c) ox

organic insecticide.

2" Which among the f,ollowing is an
arnbident ligand ?

3. The compound used in Holrne,s sigrral
is

a) l'lIJ. b)

o) pl{, d)

4. The metal extracted
proc:ess ls

a) Fc b)

o) F{g d)

PC1.

N02

by l{all-ilerauit

5. I'he order of the reaction with rate
constanl 5.5 x10-r4 S', is__*

Answer any l1 c;uestions fronr 6 to I9.
(2 Score each). eLxZ=ZZ)

6. Write an.y tu,o postulates of
Werner's theory of Co-orclination

comprounds.

7. T'ransition metais and theii: cornpouncls
are knorvn lbr their calalytic activity.
Ilxplain hy writing a chenrical
equation.

Cu

A]

SSli 2.5 Chetnistry 217

Iffililil]til!tililililililt

Score
1 oJroafl 5 ruoo ooHcc aJccJeonraacr3o

g(dyoo6)aelor3a. (eio3 crrycd oflroo) (5xl=5)

1. rorgrn;oo'ro c6ccilcrl ggg acOoccrflai a1s
mccrdlcrJl c@)6rn".

2. rocos rorrrrlroleo3rmanlot oomloor:cfr
ellcoco0<r.r.r ogmcern' ?

a) en

c) ox

b) EDTA

d) scN-

3. cor:comi rrulcme..ll rfl g.rr cco)ccDlSlJcm

cl'U ocQ{droo r)43cO c em" ?

a) N['1,

c) PH,

b) PCt.

d) No.

4. nrlcot o"ooccrtj iototdommo crldl crflACIol

$|CII GPJCooo

a) Fe b) Cu

c) I{g d) Al

5. 5.5 x1(f 14 S- I co6 cecar0g.1cfr'roocongeg
qrrruOorom,mfloQ oc6ol6
rurgant".

6 m;ancfl l9 ruoo ogoroc,lago ll o-aJcBJ

crnefi*rigronmo o€DeJroJa,. (roerrdcnjo6 oJ@o).

(17x2=22)
6. e ac * eic & n rJl c mos crl cru o coJaroruB er g ao3tll

4JJES er ot ft erno3o s m;'l eucono..ror,l oet
o€16) fiD m1 a3o ro ons" rsyocn3oacmlm6.dn c6

o{)wJroJe.

7. m;oi*r,o6rn ojel rs5-0Bso c'ocrt coJos ffDoco]

erD 6dBgo p_o?c 1ol roa 1o:cu aommrodlcnccofl

ra'ro cr'l or o g s3 cmJ6ne". a oJ ocm) m) o cr.l ceJo
n{)eJtrtl oJ1 uora ocao3a.
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8. Chloroform is kept in dark coloured

bottles. Write the chemical reaction

behind the reason for this'

9. H2S is less acidic than HrTe and also

it is in gaseous state when compared

with HrO. Give reasons for these two

observations.

10. Grignard Reagent is very much used

in organic synthesis. Explain with

necessary equation the preparation of

ethanol using Grignard reagent'

ll. Complete the following :

KMngo

KOH, heat

dil NaOH
b) 2cH3cHO

2 bromopentane on treatment with alco'

Solution of KOH gives pent-2-ene as

the major product. State the rule which

13. NaCl becomes yetlow in colour when

'F'cenfres are formed. Explain how it

happens in NaCl crystal.

14. Differentiate between Roasting and

Calcination.

Score

8. c6ccoceooco po36re crflooJaa aldadl
erceni cru3adlggcmol poflocfl &co6rnocc0)

ocm; Lolcu aoloff)o o0el(De6'

9. HrTe oco) Gocctredl4J HrS a3oeiuro

toomrori mrJcccu oJggrocsm'' ooro3ccJcoel

HrO col3ocoll rocorooJo o-aJglJecrucc0 pof

cucroa oocumooJla3ocern:' pe oene' alldl

es 6rn60B gos(l))to &c o6mo oO93c)J6'

1 0. icriloimcOrui o"lccorecfr ol goo a3s3roacoll

acOoccrflai crflOoocerneoe$ rd golcoccrfl

sllrmJ, ooioamc6 1cn'lo"mc6cru"

cfl eorecfr ga:aoccrfl4[ crflOdlggcm oJlcuo

ocm)cruo cucaJo o$lvJofl oJl cnraocacr3a'

11. or3tdlgfgga.

H^O+

-Hzo

12, 2 - afmtc a ocool ocQo"om roo c0ooeoocdld

KOH elcaJmlcor3occor'l LcLlol6orol

dlqogcc0 oorQ -2-Pec0 [olt.tlccn

gdgnnoccofl ordlo4' poflom crucoja'rdl

ggcm crflooo tcucu-allgge'

13. NaCl 16 'F' ocrucQo3acb gsneca3cmrcr6

oooi oeroorcrlloocoll oflo3crn3' 9ol NaCl

t€'l$eIld og)66Bom mloreoJlggcm3 oocrn"

ollooreocaet3a.

14. eocgf o@Jo ecotmilcmourn3o oroolet3gg

cuJo[ccruo e3c'lEga.

12.

SSE 25 Chemistry 3/7
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Score

Bends and Anoxia are two disease

conditions. Explain how they are related

with Henry's Law.

Explain why Sc3* salts are diamagnetic

and Tia* salts are white in colour.

Write the structural formula of the

co-ordination isomer of [Co(NI{r)ul

[Cr (CN)u]. Also give its ILIPAC name.

The rate of formation of NO in the

following reaction is 3.6 x10-3 mol I -r S-r.

4NH3(s) t 5Orrr, -+ 4NO,r, + 6H2O(s)

F'ind the rate of disappearance of

oxygen.

19. Write the name of the method for the

preparation of colloids which involve

dispersion as well as condensation. Give

one example of the colloid prepared by

this method.

Answer any 1 questions from 20 to 28.

(3 Score each). Q*=tt1

16.

t7.

18.

20. Explain the following name reactions.

a) Stephen reaction

b) HVZ reaction

c) Etard's reaction

(1)

(1)

(1)

SSE 25 Cllggl,istry  i7
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15. oenrc6oD"m.r", rooccDcftlao poi oene" Goccr:c

orcn:oagcem:. pol o66dBom oooc0dlcor3os

cn'1 cot o cr-r3 o c coll en-l cn-r: o *l $ o1 SU crnl €) crn"

crJlc.oeoceo3a.

16. S ci*a oJei^neuec0 o!Q)coc@"cD61 ao3o

Tia* acrlemeond orugg mloo3ggro3o
cro@1 o1 ggcm<u'i o€)ooJo6c5fE" oocm"

olcnr:oceo3o.

17. [Co(NFI,)u1 [Cr(CN)u] ocf, cac-ac6od)

cmosrfl 6)o€)cm)coocJloQ oelscocoJooca)

cooc6o3a ooeJrDle eJsco(o onoflocf,

ILf PAC cnc oao6rno{o o-oJQlJ6.

1 8. rorcos nrcrrfl olggcm 1o-tcl0rarocnorrild

NO gsnece3cr^no11ocf, crfloao'

3.6 x 10{ mol I -t 5-r 6Banr"'

4NH3(s) * 5Orrr, -+ 4NO(") + 6H2O(_*)

ac61 ec6 c'ro [oJ roJe,s oca3cm ofl ocf, crfl oao"

65rnd.oc6oJe.

19. oulml"co-t6ovm3o aoenecrtcmlogmJo 53oJ

o1 9[ msao3rm oecc gccoll cu,:" cn1 OoolEgcm

oleofl ooorocrn" o€)elcoJ6. prc olrolcollafl

crfl 0 oo1 ggcm oac c gc mI o.tJl cn' a o3 9c c oo o6rn o

c'6)eJroJA

20 o3oxd 28 ruoroor3gg e-arcn;oon$rd o6poralego

7 nOmroroilcrigroruloo o€)et(olai. (3 eap6 ctlkoo).

(7x3--zt)

2 0. rocos rocnil dl ggcm col o]gg LcLl crJ Ooromaon c0

oJloaraocao3a.

a) og;ooccrt lo.tcuOcoromo

b) nerq'. oJl. pocruruig,?=.Q,ge-'

cj p6c0orlmi io-tcuOoromo

(1)

(1)

(1)
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,21. a) Two isomeric aromatic compounds

A and B have formula C7 H, OH.

A give purple colour with Fecll
solution while B does not. Identiff
A and B. (1)

b) Explain whyphenols do notundergo

substitution of-OH group like

alcohols. (2)

',12. a) How can you prepare Cl, from HCI

and HCl from Cl, ? Write the

chemical equations. (2)

b) Explain with chemical equation how

supersonic jet aeroplanes deplete

ozone layer. (1)

,i13. a) List down the various steps in the

preparation of I! Cr, O, (Z)

b) What do you mean by a chelate

ligand ? Give one example. (1)

',i',4. a) Explain any two methods to

prevent corrosion.

b) What do you mean by limiting

molar conductivity ?

(2)

(l)

il!5. a) Explain the various steps in the

metallurgy of Fe at various

temperature ranges. (2)

b) What is 'Blister Copper'? (l)

SSE 25 Chemistry 5/7

21. a)

22. a)

23. a)

b)

24. a)

b)

25. a)

b)

b)

Score

C, H, OH ogcm conc6o3a ggg
ofle" oo€)Gmcoo cjlai oroeococ8lai

mlocotdrD6uBgcenfA o3o B or3o. A FeCl,

etcocnlcoJld cr:6gf cA cnloo roo3cmj

ogcmcnfl B oro3cnflg. A cot3o B cor3o

o€)m)co6rDnn'ao6rBGnDe6 (l)
o.d1cmc6 og;oor3oa,cend oeJoorDcgcoeJ

-OH 1co3g m.reruipfl ggc,uoil ot og6ag
sJcnlg:"Oqn oJloeocacr3a (2)

HCl-d cn'lcrnjo Clr go Cl, gotecorc

urld: HCI go crildodlEgcmooopom ?

occrum)ooJca;ond ooeJo)Sa. (2)

mAHA acrucern'lal oa6 oJlocmond

accmrcer6 o.lc$oo orrdlg o-otglJcrn

ojl<t-ro ocm)m)ocuce;o o61v3rull ollca

Bocaoea. (1)

K, Cr, O, crll0dlEgrmoflos oJloJlcu

oe6onrfr eflpio-orgga. (2)

a1ao6i ellocc6rur" ogcrncafl o6;cror" ? ao3

pccooosrDo o€)eJroJ6. (1)

GeicoocDcuocDo (d)salSrrnofl m3gg oene"

oc0rgoncd oflcaoocao3a (2)

efl dlfl ocri cocgcd eene4iloJlfl o6ymccfl

ogounenicrflemd Gro6@oocacr3cmoi? (1)

Fe-or3as oogcerddlcoJloei oilofl <.r-r

"e6orr6 clceoc Arcogcoi ordluilcollego

rnsoo3rmofoJlcror:acaer3a (2)

o6oroc6m"'qg[lgl0 cacg6'? (1)b)
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26. a) Differentiate between SN, and SN,

reactions. Q)

b) 'mfhy thionyl chloride is preferred in
the preparation of alkyl halide ? (1)

27. a) Which type of substances would
make better Permanent magnets-

ferromagnetic or ferrimagnetic ?
Justiff your answer. (l%)

b) Identiff the Band diagram of Mg,

Si and plastic ? (lVr)

iii) u
m

ii) w
28. a) Deflne azeotroPes' (1)

b) The vapour pressure of pure liquids

A and B are 450 and 700 mm of Hg

respectively at 350 K. Find out the

composition of the liquid mixture if
total vapour pressure is 600 mm of

Hg. Also find the comPosition of
vapourphase. Q)

Answer any 3 questions from 29 to32

(4 Score each). (3x4=12\

29. Explain the salient features of crystal

fleld theory. Represent diagramatically

crystal fleld Splitting. Also define the

following related with CFT.

i) Spectrochemical series

ii) High spin and Low sPin

complexes. (4)

SSE 25 Chemistry 6/7
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26. a) SNr, SN2 o6cnfllolcu0oom66Bgos
o.frDJcm"ro a3cflgge. Q)

b),soafl ooaerafr oocoo eloxJeg]os
m'l 6 oo c em (6,m,1 d o€) crDJo 6c6ne c 6rD"

olocorcoo6rDrd egooooruIloi ogc0coernm

gggct? (1)

27. a) pcuollafr ogJ(oc6m" crudloaccroo criladl

ggcux6 eEqrord mgrui'- enocoooc'<mdld;

nraogm,lcfl ooocJl occm61ai. gomoo

m;ccolladlggo. OYr)

b) Mg, Si, 6cgfalPcuoleos enrcato'd

ClDco(@o GosIEOrOle.

28. a) oom5leconcpc3+eog crfldcgonEga' (1)

b) A, B ng*tlo6rEJ(Gcor65uBSos 350 K
gec,gcoieugg cucroeoaqo_cotoclaoo
4SO g. 700 go mm of Hg rooern"'

rolooe cuccoao6go 600 mm of Hg
ruplocrn#ld GoegcaJgg 1r:cola dl6oil

coorollocf, "oscn &6rn66)cdola' dilscoo)

oJ c (oe oro cu cnro coll e4gg oel scncolJo

aene3ofldlgga. Q)

29 qfoxd 32 onrrepg co.rceyuefld ogoonnef

3 alqmoYurlcri grurorcsrov3roSa,. (a cnloA crlru'o)'

(3x4=12)

29. td,lmlttfl oo'116ol-1" mflnoccrooroflocfr o3o;

mloJlcc,ocrg roecb oJlcnraocacr3a. te,1 9316

oo'l rdnu" ojl "el smoroor oJl lroo3ol rurufl 16

GosoJcAoHSJoroJa' arescarul CFT cor3ocofl

erucruo$3 (ocoe ojoolScmor crflaqongga.

i) oqpqo el+dlaerd mrldlcrd

ii) oooo qflcO, coc qlc6 eacgJf;*e<6' (4)

iDw
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3{li. Horn, the foilorving conversions

occul'in organic synthesis ?

i) Llhlorobenzene to Phenol

ii) Aniline to phenol

iii) Benzene to phenol

iv) Benzene to benzaldehYde (4)

Explain with flow diagram the

rnanufacture of sulphuric acid.

a) Name the process

b) What happens when conc. H,SO4

is added to Calcium Fluoride. (4)

Explain u,ith examples the following

related with isolation of elements.

a) Slag of

b) Leaching

c) Liquation

d) Ellingham diagram. (4)

Score

30. eic6cDccnlai crfl 6mcerooro1d ocoe
ctJOADJTm olOllCUarololmauBca oo6TBOm

msaei3crn3 ?

i) c6oeocoeuc0mllc6 - o-dlemccB

ii) orocrllellc0 - odlcmqc0

iii) oeucrtm5lc6 - odlcmccO

iv) oeuc0mllc6 - oeuc0crucaflruSloooond

(4)

31. crucbongcild cplmrruJloQ crJl0mcemo

Gclgo cll)eot(/)o cuogi oncgGocdoJe.

a) plc 6Jl6Jlcoru3os ccr-.toocnn"?

b) Conc.FlSQ cergl acmru;o gso6ncui

co.rdorocd €)croJ auoraiollggo ? (4)

32. o3eta6rBog col6o1o1o2[ oosJdoecrn

to3occoll eru mr:og[3 cocoeoJoar3cmoJ

o€) flDC O 6rn Cm" 9(3 C oOO ernmloo'l ro o

oJlooeocael3a.

a) qgcodoc.,ri

b) ellefloui

c) eilaapvc6

d) crflflloo?,oco cucor(cllo (4)

xlrs
;tes

1

4j

3i l.

SSE 25 Chemistry 717



HSSLiVE.IN HSSLIVE.IN HSSLiVE.IN HSSLiVE.IN HSSLiVE.IIJ

SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 201 8

ENGLISH
Maximum : 8o Scores 

Time :2vzHows
Cool-off Time : 15 Minutes

Read the foilowing passage and ans\ryer the questions that follow :

system atxaviet's was different from the system in the uS. Here, a far moreof learning replaced the_ academic rigour and intellectual stimulation I hadssachusetts' I quickly realized,that I'd-be able to learn more in the city, beyond

1. Who is the speaker here ? :

(t)
2' How is the academic system at Xavier's different from the system in the uS ? (l)
3' Did the speaker like the system at Xavier's ? what did she quickly realise ? e)L

Read the foltowing lines from the poem 'Any woman'and answer the questions given below :I am their wall against all danger,
Their door against the wind and snow,
Thou whom a woman laid in a manger,
Take me not till the children grow !

4. Identi$, the flgure of speech employed in the lines.
5. Elaborate the message conveyed through the lines.

(1)

(2)

Generol fnsfiactions to Candidates :
' There is a 'coor offtime'of I5 minutes in addition to the writing time.' use the 'coor offtime'to getfamiriar with questions and to pran your answers.. Read questions carefulty before answering.
' write answer to the specific number of questions as instructed.

Score

SSE 0l English t/4
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6. Edit the following passage :

Education is the foundation upon which any change is built. Learning help women
help themselves and break the shackle of exclusions. Nowhere is this more essential
than in a dcveloping world"

7. Report the conversation givcn be lou, :

MRS JONES : I'nr very well, thank y'ou. I-lave you finrshccl your Christmas shopping
yet ? i'nr still in thc nricldlc of nrinc.

MRS. SMITH ; I'vc postcd nrl,cards and prcscnts.

(4)

(4)

points ? (3)

9. It's tlue that u'e don't always neecl ldi'jcc or ans\\'!-r. Sornetirncs all we need is a hand to
hold, an eal'to listen and a heart to ,,tncicrstantl. In the light of your understandiing of the
anecdote 'Horegalltr', prepare a .,r'r'ite Lip on the nec-d tor strariarrecoore noregalu', prepare a.,\'r.rte Lip on the nec.d fbr sharing, caring and social
togetherness for thc well-being oi ri srr:css-1"iridcn socict\,. (6)

10. t'We are the slaves of our custorns' ln the ligitt oiyour understandi,g the poe,r
"Mending Wal1". Prepare two sentetlces agreeing or disagreeing to this staternent. (2)

stions 11 - 18. Answer any six. Each question carries 5 Scores. (6x5:30)

1l' N4oney can play stlange tricks on rluin. Ir is clrihcult to be rnorally upright in a socially
corrupt set up. ln the light of your undelstanclins o1'the play 'The t-ioui oiTruth,. preparl
a letter to the editor on the social cr.il cailcd corruption.

12. The bus stops on thc road across fiorn thc housc *,hcn
houses could be seen in the clista,ce, on tirc r-ight, b,t
trees. How the place has changed !

Here, the poct Chcrnmanam ChacJ<o noticcs drastic changcs in his native village, Have
you noticed any c1c:v251a1ing chanees in vour elvir^onnrent. prepare a blog .rtiy about
your observation.

l3' Social cntl'cprcncurs are inciivicluerls u,irh innc.r,ativc solutions to the society,s most
pressing social problenls. I'low far is tlie statement true ? hr the light of your uncleistanding
of the inspiring inten'iew with L'fan Alrm. \'()u prepare an e-maii to be serlt to your frie,d
who is pursuing a career in social entrepreneurship.

8. Your class is conducting a panel discussictn on the topic. "lnclian Wornen fincling a
space in Socio Ctlltural lv{iiieu". Ybu a-re the seconcl panellist speaking about the need
for cultivating mental strength and rnental toughness in'uvorner. Wt ut *ould be your

I left this place, pahn thatched
now there's notliing except for

SSE 01 English 2i4
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14. "Nomita laughs a laugh that can bring an attractive flush to a white face". Atternpt a

character sketch of Nomita.

15. "When a u,hole people stammer

Starnrner becorres their rlother tongue

Just as it is with us now".

How is a person's stammer different from a rvhole people's stammer ? Does it signify the

society's indifference to burning issues ? Give your opinion in a paragraph.

16. Prepare a blurb-based on the following information.

Wings of Fire;An autobiography of Dr. A, P. J. Abdul l(alam.

Originally published in 1999.

Co-authorised by Arun Tiwari.

Discusses Dr. Kalarn's early life, hardships.

His lit-e in trSRO, DRDO and about his missile programme.

17. The tickrng parcel in the post office created funny moments but proved harmful and
painful in the end as the assistant leaves the post office fbr ever. Ilave you ever had any
such experience of humour creating inconvenience to yourself or others. Narrate your
expenence.

18. You, as a T.V. Journalist, are assigncd to report the climax of the story, 'Amigo Brothers'.
Prepare a live report describing how Tompkins Square Park changed its mood from fear
to cheer rvhen the two Amigos embraced and left the ring arm in arm.

Questions from (19 - 2l) Answer any two. Each question carries 8 Scores.

(Internal choice is allowed)

(8x2:16)

19. A relief centre in your locality is planning to give English classes to the children below
10 years. They are looking for volunteers to help them in tutoring the children from
economically and socially backward areas. You would like to apply for the job. Write an

application and resume with necessary details.

20. The third 'L' is leadership that enables women to rise and fuIfil their innate abilities and
talents. They are more likely to make decisions based on consensus building, inclusion,
compassion and with a focus on long-term sustainability, Do you think leadership roles
can improve women's status in society ? Prepare the script of a speech on the need for
women rising from subservient roles to leadership roles to be delivered on the occasion
of international Women's Day celebrations in your school.

SSE 0l English 3/4
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21. a) Your school has decided to publish a magazine on the occasion of Annual Day

Celebrations. As the secretary of the health club of your school, you are contributing
an article on 'Dangers of Drug Abuse'. Prepare the article.

OR

b) Activities that devastate the environment and societies continue unabated. Our
planet is suffering the consequences of rnan's greed in the form of natural disasters.
It's high time that we changed our mindset and stopped threatening the life support
system. The Eco Club in your school is organising a seminar on 'Environmental
Conservation and Restoration Indigenous Culture for Sustainable Development'.
You are presenting a paper on this. Prepare the seminar paper.

22. Read the following poern and prepare a critical appreciation comparing it with
'Mending Wall'by Robert Frost.

Dear Neighbour

- Jovonni Edwards

How are you doing today ?

The grass is green,

The sun is shining,

We are alive to see a new day.

We live by one another,

On this huge planet that is our home,

If we cannot learn to greet another,

And treat one another with love,

Then what good will be able to come ?

I understand dear neighbour,

We rnay not know one another's name,

Nor see one another often,

It is easy to feel as if we are strangers,

But that is not true, I promise

So please do not fear me, dear neighbour, I am

Just a simple man,

Living on this earth as happily, peacefully

And joyfully as I can

(8)

SSE 01 English 4/4



HSSLiVE.IN HSSLiVE.IN HSSL|VE.IN HSSLiVE.IN HSSLiVE.iN

Iilililtilililtilililtlilllil

SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2018

P4rt - III
PHYSICS

Maximum : 6o scores 
Time : 2 Hours

Cool-off Time: 15 Minutes

General Instructions to Candidates :
. There is a 'Cool qff time' of I 5 minutes in addition to the writing time of 2 hrs.
. You are not allowed to write your qnstters nor to discttss anything with others during

the'cool off tinte'.
. Use the 'Cool offtime'to get.familiar v'ith questions and to plan yottr answers.
. Read questions carefr,rlly he.fore answering.
. All questions are compulsot"y and onl1, internal choice is allowed.
. When you select a question, ctll the sub-questions must be ansu,eredfrom the same

question itself.

' Calatlations,.figures and grophs should be shov,n in the answer sheet itself.
. Malal,alam version of the questions is also provided.
. Give equations wherever necessatry.

' Electronic devices except non programmable calculators are not allowed in the
Examination Hall.

oilra;c6<oo1a,o6ao3gg or.,-rcorjcrilttcquueund :

. c'dl6@ov's 2 aerdlao36 o'oocorrumjlcri oiJooo 1 5 o1cn15 'a3c0 aco-o'ooso' gerreccollolao3o.

. p"c m)oo6ro" G-c.rcGjo-onc0ao" por?Droo o€)gJc.)ccmc, o$ggoJoJoccoil rolo)clocorojlcr{locoro

cDSOrDcGcnc o-lcdlg

. 
9c6.rDo5-6l3c0 ngv3or3cmoilcri o3crr.r" c-c-rcr:;eunca 6gauco-t36qo cr-.rccoflaoemo.

r o€)flc c-rce;euncflooJo gorDoo o€)eJn ono.

' eiroJ c-"Jc€JmcruO gorulooos3coccCI ooooorrlDsJoro3 a$lerurotcafl go-rcorcGJcoBgo Gocto

G e,r c €Jm mJ o1 afl crfl crn" ro el cm o ro o o 6T 6TD sJc ao ene ro c om".

' a6'rndo" a33er3ac6, -o-I1roeun6, 1coc.ro3ar,0, nonnlclr grdrDoecLJHcfld coocm gsneccollolaererno

. ctoc)J uoJoggg cruo o 6ri,)" ru ool ceJ66Bd oacs3ao erno.

. G-a.J c cJ5'6I3 cA o a cor c gcoml a3o m o?a1 coll gene",

. c(cllclcncoJad oo-tgccnoacoro acotao3ca6o3ec0 aCloacor3gg 6roJ pelc(€cenflei

gctJ e o 6rn oqo o..t o"l a,g c oo c $ nfl go-.t c cor c odl ao3ot cc6 ot c dl g,

SSE 24 Physics l/8

SSE



HSSLiVE.IN HSSLiVE.IN HSSLiVE.IN HSSLiVE.IN HSSLIVE.IN

Score
Questions I to 4 carry I score each.
Answer any 3 questions. (lx3=3)

l. On introducing a dielectr-ic slab between
the plates of a capacitor, its capacitance

2. A charged particle is moving
perpendicular to a uniform magnetic
field. The trajectory of the parlicle is
(Circle, helix, elliptical, straight line)

3. A convex lens is immersed in water.
What happens to its fbcal length ?

4. Name the phenomenon of light which
causes the irregular edges of shadow.

Questions 5 to ll carry 2 scores each.
Answer any six questions. (6x2:12)

5. Electric field lines are norrnal to the
surface of a charged conductor. Givereason. e)

6. The variation of resistivity with
temperature for two difference
substances are shown below :

From the above figure, which
one corresponds to a typical
semiconductor. (l)
Steady current flows in a rnetallic
conductor of non-uniforrn cross
section. Which of the following
quantities is a constant along
the conductor. - (l)
(Curent, Current density, Elcctric field)

Iilil]!ililtilttililililllilt

Score
I o3oxtf, 4 ruooor3gga-a.rcre;ondao"l ocqrc6
oJl roo. o6oorerla3o 3 a-elcn;ono6ao' grururo

1 . ao3 agcmil6c51ocft cgJ gadaellscofletccoJl
oocLugoel 1qile" cp cenr" cl-rgco? rooofl ocf,
agcmJl6otad

2. oo3 -ocOe3gg aenfla ao3 moaccrofla
o emlet comil m" ei oen-l occoil croorsl o16oJcrnJ
aenfl aco.l3os cru5lplcool cro :

( o.qorolca4ofl , ooo efl 6", o4yel o_t-cru",

cmOcool)
3. aro3 cacffiocl6 oac0mflom oclggolulot

o3a.efl clgcafl ro'ooflocf, concaoot r:3oror! cri
oocmJ oc8o cruocolldoJo.

-1. oilveilocrfl taoonril(oocao clao3acOoo"
63r0flnoco) (oJeccoo acenflast3cm 1otol)
reccrucooi ?

5 o3orafl 11 cuooorJgg c-a.Jcc;arnc6acr"
2 ecgc6 ofloro. 

"6goorr,1o3o 
6 o6leggororlcrf

ooYJrUlJor. (1x3=3)

9orooooeJ{u)Jar. (6x2=12)

a) o3aglafl oacs3ordlolaoJcrn 2 _aJllro

5rngl ftfl oroOau_elcgaranfl om cruJeJl

d*1.. -oJl1roo n6ltui ? (1)

5. ooclra;fir o6mlel cos:.Loc6 oo3 otcOdoot
8l ggg -c_t ca aror6, ocft got r-dkoet raroil cn"

ao5nioc5m". &cooDo oOeJrT.rJa, (2)
6.

a)

b) b) cmoT ooocr-tB,lccil otJroJcr# e-aoeroeJ
ol1 erpl 0Ego3gg soJ _l c etaromil a3os
1o-t cr-.] or51 ao3rrn3. (I)coeB oco.r3cmcu colld
cnrdl ocmo3ggnri ogirocsm" ? (l)
( elocl ogofl , oooJ GJnlm)c(cntu), oool c3ru)
o6ru-tao)
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7. The relation between rnagnetic field and

cument is given by Biot-Savart's Law'

a) Write the mathematical form of
Biot-Savart's Law' (1)

b) Give one difference between

Biot-Savarl's Law and Coulomb's

law in electrostatics. (l)

8. The B-H curve of a ferromagnetic material

is shown in figure.

a) What do you mean ferro magnetic

material ? Write one examPle. (1)

b) Identify the value of retentivity and

coercivity from the figure. (1)

Magnetic field of earth is due to dynamo

effect,

a) Write the elements of earth's

magnetic field. 0%)
b) The value of diP at magnetic

equator is (%)

When a metallic Piece is Placed in

a varying magnetic field, current is

induced in it.

a) Name the current. (1)

b) Write any two applications of the

above current. (1)

Score

7. oocr-t BJJtrl o6lTu.leloJJo oerelr:;ro1cor3o
ro ool etigg 6rll ffuo ot3oJl g[ aeiJcrnoccm"

eu cot ga m.l cr-l 0 S"crd crfl co.t o o'

a) eru cor5l m-rcr-l 65"crd c'dl cor oo cnsnfl ro o3cr-t

omrd o6eSroJe (l)

b) alcoSa m-rcr-l 63"crd cdlco;oo+o (un1lro

oool cJ ruil coll os eJgoml" crflcorocr-l3o

oroo1a3gg 6-roJ orJoJccruo ogeJroee' (1)

8. ao3 oooGococcn'm61*" ,l*JJ
crno@ B-H tcoc"ri rolcn{lo1aer3crn3

a) ooncococcll:m6lr;.*pe o4;oolcem" ? oo3

gGcoo@6rDo ct€)YJ{DJa (1)

b) cA 6cAcfl on 61 co;Josco;Jo oaccco.ricr$loJlfl

cojoscot3o dl elad (cnco-o1 afl cn1 cm3o

10.

oflo14cflcor3a. (1)

9. re3olcor3os oooJGJG) oemlgromfl m' acoem

oc6m"'ooctDcnccoc P.'o€'
a) re3olcot3os oocr-lBsnt oem-i.laoru51ocfl

ogaoocfuocft ogv3ro3a (l%)

b) occrl"m6lai pca6c51nfl ol"!c'n ocQ

oJerJo (%)

10. ao3 Gelcooeos,6rnoortl cr-L;ofl corcmo

crooreoJl43 oacerrdl olao3crn ooolcJ(D
o sml et oroil cd cl 4c d oocl ogafl G lol o6mo

o-ol9o(HSJrrnJ.

a) c1ox51nn ooclr:gollcor3os ccLlooeJco3a (1)

b) LolcmJro ooclr:goflcoJos o5re" go-lcco;cc/)
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11. a) Formation is rainbow is due to

d-r;Fts' 
of sunlight in water

(Scaffiering, dispersion, diffraction,
. polarisation) (l)

b) Draw a ray diagram showing the
formation of primary rainbow. (l)

Questions 12to 17 carry 3 Scores each.
Answer any five questions. (3x5:15)

12. Two spheres S, and S, enclose charges 12. S,, S, €:'rri ccncgerncO grioaocggf,rm
as in figure. " : c qa,-0 -c-il lorom! rd aconflgf dao3crn3.

a) Name the theorem used to find the ccncgeorgllet3osoJgg oocleJro 
"n"gfr

acern3crnoflm3gg oflco.roolrl"Gelectric flux through the spheres. (1)

ililil!ililtillffililflilErtEfl

Scqlrc
I 1. a) ovoJl$ gdnecaJcmari au3o;1o.lacuorcroiloi

geta6n aadon 
-.-- 

cruorccrflg;cerri

(cru"ac6cfl sn", 1o: ei 6qp mo, nJ) lnnc,eu c6,

celcgoooccruovot) (n)

b) oolo:odl ovoJlg gorecajcrndloQ
cootcoJlcoo oJoSBa. (!)

12 o3orrd 17 ruoo co..rco;curaodaci3 ccrgcd o.llroro.

ogoroe,l ajo 5 og e;q oruil m" gruruloooeJoJo,.

(3x5=15)

Gct.Joog3(U.)Ja. (1)

b) S, a3oscor3o S, a3osco3o asrrnJcoJcaJryn
oooJ GS(o onig6gac0 orool a3gg Groooo

5'rucruo o6;oolcern" ?

What is the ratio of electriflux
through S, and S, ? (Z)

Write the expression for magnetic
field at a point due to a straight
conductor carrying current. (l)
A straight conductor carrying a
current of 20A. Find the magnetic
field at point 5cm from it. (2)

Derive an expression for the self
inductance of a solenoid. (2)

The number of turns in a solenoid
is doubledkeeping the length same.
What happens to its self inductance

(1)

a)

b)

13. a)

14. a)

b)

(2)

b)

13. a)

b)

14. a)

b)

eo3 crflcr 6crn -a: cet acoroJl e4os oocl ego5)

1o-rcrlorilao3cm.lcgJsnscaJrrn oocrjGJ('
oemlercoruilocr! cruoclce;o o6v3o6a, ( 1 )
2 0A oocrtr:gro1 lolelorjlao3cm ao3
or'lcr-l6crn o-lcetaoroilnfi cnlcrn3o 5 cm
caaoel colJgg ao3 enJlcn3oJl e{6rreoaJcm
o oo-.r c;nrr oemlet o'mrt ocf, o3eL;o

65m4OC6OJA. \Lj

ao3 amJl4oJdl o? g6rec6Jcrn oouoto_ri
pc6aua:6c0*dl o€ cruootcaJo oJo_ll

aolao3a. (2)

ao3 amJl4o3glloa -arjgagos o6mo
cdl groroilm3 oc6o orocoo po$cocao3riri3
raoofl ocf, omafl o.o' potolagata,i"Q
oJ aJ om1 a3 5rE c aJ crn o{oJcmo
oOeJ<oJa (l)

value ?

SSE 24 Physics 4/8



HSSLIVE.IN HSSLiVE.IN HSSLiVE.IN HSSL|VE.IN HSSLiVE.IN

Iililililillilililillilililllil

l$. a) De{ine Q-factor. Write an expression

for it . (2i

b) How the Q-faetor of a eircuit is
relatecl to sharpness of resonanee. (1)

16. Jarnes Clerk Maxwell introduced the
concept of displacement current.

a) What do you lnean by 'displacernent

cument ? (1)

b) Write the expression for it. (2)

17. Interference of light is caused by the
superposition of light waves from
coherent sources.

a) Write one rnethod to produce coherent

sources. (1)

b) Write the conditions of constmctive
and destructi.,,e interference. (2)

Questions tr8 to 23 carry 4 scores each"

Answer any five questions. (5x4=20)

18. a) Write an exprcssion forthe equivalent
capacitance of three capacitors CpC2
and C, eonnected in series" (1)

b) Find the equivalent capaeitance in the

network given below : (3)

Score
15. a) Q- oocq6 o€)cxtco6,n

nfl6ru-allacr3e, onrufl ocfl rruocucaJo

ooet(ol&, Q)
b) o€)5uBomarcenf Q-oocq6'nvc6almmf

acro" ooomcsmcracruf osoJl eru crulog$
dlao3cmof ? (1)

1 6. ogaollqmf 664o" oc6tlcud Grol6, D" cuicru:ogJ

oimhocfr oocu ragofl roooll oubdl4 ro".

a) cuJl mc"slgo"tru?r ocS oocu ragofl o€)oiDcorn"

oorm"ooee(oJa, (1)

b) rorooflorQ moorceJo o€)eJoJe. (2)

I 7. loraccroorolloQ pofl6oonoc6m5lcn3 acoemo
oa'cooocfl G(cruc(u)m3agl(fr cnlcmjgg

Lo-rac(n(ooo(/)d6B gos a3dl c4 oel cem".

a) oacoooof,G(m)ccom46c6 genecaerc

mJgg 6]oJ ocacno o€)eJ@36. (1)

b) afficru:paifl cr3o ruilcru:B+ilcua" pQA
oclooc0mr3acO genecaei3cmofl m3gg

ouoJm.o6c6 o6v3ro3a, (2)

18 o3orafl 23 cuooojgg G-orceJeupdao"
4 anpc6 oflroo. o61oroe,1a3o 5 ooeXgoruilnf

goruoooeJ{oJai. (5x4=20)

18. a) C,, Cz, Cro6;crn1 agcmll6o3ac6
a6gonfl o1 ofl oll d "et dl gl aoJG mr ceJg.g

m)ooeJ agcmfl6c6o oQ cruooJcoJo

o€)e3rol6. (1)

b) erJcrros rormlol6oarm om6cu6
*rtloQ m)drel agcmil6c0mllocfl oJlo

66rnd.ocdoJe (3)
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19. A conducting wire XY of mass 'm' and

negligible resistance slides smoothly

in a uniforrn magnetic fleld B on two

parallel conducting wires as in flgure'

x

I llllllll lllll llll llll lllll llll llll

Score

I 9 . -a.jl lnn rod d ecsnfl4fl 16l acr3cmro3eo l co eJ' m'

asmrJgg lolofleoculo ptJcroTo XY ogcrn

-2JceJ&o noJ cruoecauflo B osm'uelorufld

offrB" m) occm)o e-ic el&6[Br6ao' oleo(drDJ

eJos edloor{l cdlon3crn3.

b) If R is the resistance of the circuit,

find the current through XY' (1)

c) Write down the equation for the

acceleration of the wire XY. (2)

20. Look at the circuit shown below :

Narne the circuit and write the

equation of instantaneous value of

emf applied. (1)

Draw the Phasor diagram when an

alternating voltage is applied across

the circuit. (1)

Write expression for impedence and

phase difference between voltage

and current when X,-, X. (2)

")
Write the value of ernf induced across

the wre XY.

a) XY a3o3oa g6fleceJcrn c1"ro1ro emf

o€)(co ? (1)

b) ol6a;$oa loloflcoccuo'R' rop@rcd'

KY col o3os eo)JBg oocr-l Glco (ololcoo

c".cr,o o6maocdoJe (1)

c) -:-39ao XY cor3os nlllos,Do o6v3ro3a' (2)

20. otcnildldoJcm ou6agS olr6lccocuJlao3a :

cruOag$ocf, eo-loJo mafl ailcollolao3crn

c cr ccbcadl oG pcOm.)c0 cQc crfl cor cru

oJlaao.r3os m)ocuceJol3o o6v3ro3a' (1)

A. C. cotccicae" mnfl aJccru caJgg

co-om;O ollco;[cno o]ogge. (1)

X, , X. roocollolao3cmlccO Poofl

audml ooficol]o GoJcutGSBJo oooJ c8

ofl cot3o ro m1 a39g c on od o:;ro;ccruroroil

ooficor}o mooiceJ6'68cfl o6;v3o3a (2)

b)

c)

(1)

b)

c)

B
Ot
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Score

21. The electric field variation in an

electromagnetic wave is given bY

E =36 sin (1.20 x 107 z-3,60 x 1015 t)

V/m.

a) What is the amplitude of the

magnetic field vector ? (1)

b) Find the wavelength and

frequency of the wave, (2)

c) Write the expression for
magnetic field variations. (1)

22. a) Complete the ray diagram given

below: (1)

Score

21. p er c [g c o ccrim6l ai nrmocnro'mfl ocfl
oooJ Blro oemla rarofl ocfl cl;rolcolccno
cro3o-t1 91 aei3 rm cru o ol 3 6Jo
E :36 sin (1.20 x lO7 z-3.60 x 10rs t)

V/m.

a) accmfl a oemlelromfl ocf, rooodl6JJctl)

o€)co" ? (1)

b) cooocrlooe6"el;crl3o rc'ocu;rooilcol3o

e6ma'ocaoae. (2\

c) accrol'l &o6rTu'lel o'mA ocfl cl;<ur1 co.tc

cno cd'ro cru3-o-ll gf aoJcm cru ooJ caJo

o61eJro36. (1)

22. a) coor:collnno ol3Oruriflao1ao3a : (1)

b)

c)

Mark angle of deviation in the

figure. (1)

Derive an expression for angle of
deviation in terms of angle of
incidence and angle of prism, (2)

Write the shape of the wavefront

originating from a point source of

<uA outun acoo" cufl oll aoog c6 o-Il tor

o'rrfld roosaicgogsJoro3a, (1)

ooourc6 oco-o' cu-fl oflcoovocfl cruo

otcaJo roOosrc6 acori pc6mllculc0mJl

ocfrcor3o loJlmlru, uilocfl cacenflocfl oJl a
ococoJo gcaogs3onfl o3ollardlao3a, (2)

ao3 co:collcfr' a1crucrnmt1nfl cnlcrn3o

orJooB sJrm c crl oiloo end ocfl

(uloeo)(6fl o€)eJoJe. (l)

(6)oo(/)mjl GDccmro pculccoccnl4f rooot

cuOronnm crflcoroo ocog|collao3a. (3)

23, a)

b)

c)

23. a)

light, (1)

b) Using wave theory, prove law of
refraction. (3)

b)
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I1ililil ililttil llltilil ilil lilr

Score
2 4 ap al 2 6 ruooorJgg G-ar co;euno6acr'

5 ccrpcO ofloro. o6oroe,1a3o 2 ogsporurlcrf

Questions 24to26 carry 5 scores each.
Answer any two questions. (2x5:10)

24, The circuit diagram of a potentiometer
for determining the e.m.f. E of a cell of
negligible internal resistance is shown in
figure.

(2x5:10)9otooooeJroJar.

a)

b)

c)

State the principle of working of
a potentiometer. (1)

How the balancing length AJ
changes when the value of R,
decreases. A)
Modiff the circuit diagram to find
out the internal resistance of a cell
and write down the expression for
it. (2)

Draw the diagram of a step-uptranstorner. (1)

What are four important enersv
loses in a transformer ? vJ 

e)
qmpouqd
,*uta rr(r)

Write the expression for ansular
magnification for the image at"mhnlty. (2')
Why the focal lengths of objective
and eye piece of a compound
microscope should be small. (l)

2 4. o o-.t c gc0c os6c o1 6 0 got c cor c cnl g[ o o3 o crug! cr]

e. m. f. aene3o-fl s1 eo3cmn'l mJgg oldagg
.u o) (cDo ro crnl o1 ao3cm3

a) oo-.tcgcrtcov;co1 6cj1 ocfi 1o-tcrl Ororinm
(oor?Dlo o{)eJtoJ6 (1)

b) R, ocr} ojla agogcafl erucetolmller,icrllgo

AJ o6ernom clJn Jccruogs3cm3? Q)
c) oo3 oou$loofl pccflernot 1o-lolcoccuo

aone3o-ll d ao3nn ofl mccoJl ocn51 o1 ao3crn
al 6ag3 cuta) [oo p_o_J1 cooccor oc6eun c6

oo3croT cr.troglJa. pccflsrnafl 1a:ru.l
c o c u-lo ec ero3rmofl mJgp cruoclceJo
o€)-.o3old6 (2)

25. a) o g;.'-l oroi 1scrf, cro"co.ococlocr! oJl lroo111ro946 (l)
b) oolcloclcolloet -e.{Begos o06mo

100 po cclcotcad 23 0V crgrcorcn0

o croaeroldl afl G lcL.l o6rno o_2J g oB sJrm
ccr-.rccOcad o6;1nn ? omraocf, c! col oet
e+Aagos n6)6mo 250 rooa3cm3 Q)
lsccrlmico-ococil o a mcei 1ot u.rcm gn hw
mogaoncO o$eJo)joa ? (2)

5loJ G6cmJt5rrd" oooG[accoScgild crilcofi
corcoll cfll cfl 1o.t oll enJl oeuo genece,3crn
coerc-cJliroo orogBa. (2)

1olofl enloen:o pc6o-o1cn161arlot g6rec
6JGml ceJgg ro@o(/)Ja c6 accn"cdlo_dl

ca.envacrfl cruoolceJo ogeeroJa (2)
oogoJlcru" oac0mllocfl cot3o acenrYa{oi
oa otm5l ocr!@Jo Goncdoafl ra3oonc6

a3ocrtcrufldldoJo. 6co6rno oOeJoJa. (1)

25. a)

b)

c)

26. a)

b)

c)

e)

26. a)

b)

c)
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FIRST YEAR HIGHER SEC ONDARY
SECOND TERMINAL EVALUATIOI{ : DECEMBER-2O18

ENGLISH
Maximum : 80 Scores

Time :2'/rHotrs
Cool-offTirne : 15 Minutes

0211, 4 9l

General Instruclions to Canlidotes:
. There is. a 'Cool of/'time'o./ l5 ntintrles in ndtlition lo the writing lime.

. (lse the 'Cool o.ff time' to get -funtiliat' vith clueslions uncl to plan your answers.

. Read cluestions c'ore.lirlly be.fore un.nrering.

. Read the inslructions careJirlll.

. Calculations, figures and grctphs s'hotid be shov,n in the ansu,er slteel itself

. Give equations wherever necessary.

. Eleclronic device,; except non progrontmable calcululors are not allowed in the Examination

Hall.

Read the tbllou,ing excerpt tionr the storl' 'His first flight' and ansu'er the questions that

follou':

His n'rother had picked up a piece of tlsh and flying across him rvith it. He leaned out

eagerly, tapping the rock with his f'eet, trying to get nearer to her as she flew across. But

rvhen she was just opposite to hirn, abreast of the ledge, she halted, her legs hanging limp,

her wings motionless, the piece of lish in her beak ahnost within reach of his Peak.

The word ..... in the excerpt means stopped.

FSE 0l English l/7

(Score: 1)
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What rvas the mother bird trying to do? Did she achieve in her attempt? Explain your

answer in three or four setltences.

Suggest a suitable title to the excerpt.

Identily the figures of speech used in ttre tottorving lines.

Death lays his joy hands on kings

Sceptre and cror,vn

Musttumble down

(Score: 3)

(Score: 1)

(Score : 2)

And in the dustbe equal made,

With the poor crooked scythe and spade'

5. Write a precis of the following passage to one third ofthe oiiginal length and also give a

suitable title. (Score : 4)

Today there are 3000 million people in the world. Fifty years ago about 2000 rnillion

people lived in it. If earth's population wer€ evenly distributed over its land surface,

there would be about 550 persons to the square rnile. But earth has vast areas of tbrest,

rnountaiirs and deserts which are almost totally inhabited. On the other hand it has great

cities each witl-r rnillions of people living in a few square miles.

FSE 01 F;nglish2lT



HSSL|VE.IN HSSLiVE.IN HSSLiVE.IN HSSLiVE.IN HSSLiVE.IP.!

To feed the fast growing population of our earth, scientists and planners have to

discover new \^,ays to produce more. one possible way is to bring more land not under

cultivation. This can be done only in places where there is lot of land used tbr productive

purposes. In many places it is no longer possible as all the available land is already

cultivated. A second way is to make use of new types of seeds to prodttce lnore' Already

a number of new strains of paddy and wheat have been developed in diffbrent parts of the

world. India is one of the countries where a lot of useful rvork has been done in the tield

of agriculture research'

Edit the following Passage.
(Score : 4)

-l-he g rlurcp tri\amuana r rliage stiil preserves a \.en' strange ritual ; that of calling

;ntes rrtrm ihe sea. lir ou r isits Namuana village in sea the tur1le calling, your schooner

anchor in beautiful day right under the cliff'

Anempt a profile of Dr. A.P.J. Abdul Kalam using the followirrg intbrmation.(Score : 5)

I 5 October I 93 1, Ratneswaratn.

Died : 27 JulY 2015. shillon-e'

Parents : Jainulabdeen (Father)

Ashiamrna (Mother)

Education : Madras Institute of Technology (1955-1960)

St. Joseph's college, Thiruchirappalli (1954)

1 1,h president of India, Distinguished scientist, Missile lran of lndia'

Awards : BharatRatna, PadmaBhushan, Padma Mbhushan, and tnore'
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It is necessary for Le Horla to descend within a minute or two and captain Jovis looks for

a favourable landing. Imagine that he announces the imminent descent ofl.e Horla to the

crew. Prepare the announcement that captain Jovis would make.

Nature is the everlasting source of consolation fbr a won'ied mind.

experienced the healing power of nature. Describe briefly.

Questions from (10-17) Answer any six. (5 score each)

(Score : 3)

Have you ever

(Score: 3)

(6 x 5 :30)

In the light ofyour reading the story, 'His first flight'prepare a write up on the support of

parents in overcorning hardships in life.

It's an apt saying that "fire is the test of gold and adversity that of rlan". The undving

qualities of every successful person in this rvorld are p€rseverance and the u'ill pori er to

fight against the handicaps and overcome them. Keeping this in mind. prepare the script

of a speech you r,vould deliver on the occasion of the comlnerloration cerernonl' of

stephen Hawk ing. the B ritish Astrophysics Gi ant.

Hasan is.the real hero ofRanaganji. He acted selflessly in the mornent of a crisis. Kerala

has witnessed rare acts heroisrn during the devastating floods. You felt overwhelmed bi,'

the silent and self.less service rendered by the people of kerala, especially the youth and

fisher men. You would like to send an e-mail about this to your friend in Tarnil Nadu.

Prepare the e-rnail.

. Travel is an experience which broadens the boundaries of knorvledge. Have vou sot an\

such travel experience which provided you both knowledge and entertainrnent. Narrate

your travel experience to a place.

(Physical f-eatures of the place, experiences, personal irnpressions)

10.

11.

t2.

13.
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Adolescence is the most beautiful period of girl's lif'e. Maggie in her teens has to shoulder

the responsibility of her farnily. Atternpt a character sketch of Maggie'

you are the reporter of a local daily who witnessed tl're abduction of Tinaicoboga and

Raudalice bi the tishennen ofNabukeler,u. You prepare a newspaper report on the incident

ttr be pubiished in the daily' What would you rvrite?

Iffra-eine yourself to be a travel guide. A group of tourists visits one of the most popular

tourist spots of your locality. How would you welcome them? Prepare the script of a

speech you would deliver introducing the tourist spot to the visitors'

That together, we could make sornethin-q worth rvhile ; h-or stephen, that made ail the

difference. stephen Hauking could becorne the supernova of physics with the family

hetp and suppofi of Jane. lt is said that there is a u'otnan behind every successful man. Do

you agree? Express your opinion - in a paragraph'

(euestions l8-21) Answer any three questionS. Each carries eight scores (3x8:24)

Gandhi savs. I shall r.vork fbr an India, in which the poorest shall feel that it is their

country, in whose rnaking, they have an effective voice, an India in which there shall be no

high class and low class of people ......... .... What is the picture of India in your

dreams. Prepare an essay on the topic "India of My Dreams".

you are asked to contribute an article to be published in year school magazine about

being successful and unique in life. Prepare the article in the light of your reading the

inspiring message of "I will fly'by Dr' A'P.J. Abdul Kalam'

15.

11.

18.

19.
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-

20.

-

In the wake ofthe recent t'loods iq kerala which spread massive darnage and destruction,

the concept r:f disaster management has -qained great currency across the state. Examine

the relevance of massive awareness programmes and the inclusion of the concept of

disaster management in school curriculum to mitigate the effects of disaster. Prepare an

essay on disaster lnarlagement in India. (Flints - a\,vareness about the darnage -
precautionary measures - science and Technology - )

Read the following poern and prepare a critical appreciation.

Horv Didyou Die?

Did you tackle that trouble that calne your way

with a resolute l-reafi and cheerful?

or hide your f-ace tiorn the light of day

With a craven soul and f-earful?

Oh, a trouble's a ton, or a trouble's an ounce,

Or a trouble is what you make it,

And it isn't the fact that you're hurt that counts,

But only how did you take it?

You are beaten to earth? Well. Wellwhat's that?

corle up with a smiling face.

lt's nothirrg against you to fall down flat,

that's disgrace
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,, I'he harder you're thror,vn, rvhy the higher you bounce,

Be proud ofyour blackened eyg!

If isn't the fact tlat you are licked that cournts.

It's how didyor-r hght andr,vhy'?

And tliough y'ou be done to the death, what then?

If vou battled the best you could

Ifyou played yourpart in the world ofrnan,

u'hv. the critic call it good.

Death cofires with crarvl. or comes with a pounce.

And rvhether he's slor.v or spy,

It isn't the fact that you're dead that counts,

But only how did you die?

Edmund Vance Cooke
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